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Wednesday, November 2, 2016
--- On commencing at 9:28 a.m.

MS. DJURDJEVIC:  Good morning, everybody, and welcome to the technical conference in OEB case number 2016-0061, the 2017 electricity distribution rate application for Canadian Niagara Power Inc.

My name is Ljuba Djurdjevic.  I am legal counsel for the OEB Staff.  And with me are Martin Davies for OEB Staff, and I will let other people introduce themselves and take appearances.  Thank you.  Turn the green button.
Appearances:



MR. WALSH:  Good morning, my name is Michael Walsh, I am with Midgard Consulting, supporting OEB Staff.

MS. DJURDJEVIC:  Okay.

MR. GARNER:  Mark Garner, consultant with VECC.

MR. HARPER:  Bill Harper, consultant with VECC.

MR. SHEPHERD:  Jay Shepherd, counsel for the School Energy Coalition.

MR. BARBER:  Rob Barber, regulatory analyst for Canadian Niagara Power.

MR. BUONAGURO:  Mike Buonaguro, counsel for CNPI.

MR. TAYLOR:  Andrew Taylor, counsel for CNPI.

MR. VANDER VLOET:  Brian Vander Vloet, manager, regulatory accounting.

MR. KING:  Glenn King, vice-president, finance, Canadian Niagara Power.

MR. BEHARRIELL:  Greg Beharriell, manager of regulatory affairs.

MR. HAN:  Jie Han, VP operations.

MR. KILFOIL:  Kevin Kilfoil, manager, technical services, CNPI.

MS. CARMICHAEL:  Christine Carmichael, director of corporate and customer services, Canadian Niagara Power.

MR. CARVER:  Kevin Carver, senior engineer, Canadian Niagara Power.

MR. AIKEN:  Randy Aiken, consultant for Energy Probe.

MS. DJURDJEVIC:  I guess we have got everyone now.  All right.  Thank you, everyone.

I guess there's been some discussion before we started on the record about proceeding by section, and is there any preference of the order of questions from the intervenors?  Or we'll just start --


MR. GARNER:  How about --


MS. DJURDJEVIC:  -- with Mark?

MR. GARNER:  -- Energy Probe, and then I, and then you guys?  Or is that fine?

MR. SHEPHERD:  What about me?

MR. GARNER:  Yes, and then Mr. Shepherd.

MS. DJURDJEVIC:  All right.

MR. SHEPHERD:  Was that intentional?

MR. GARNER:  Sorry, I -- also, Michael is here.  I forgot Michael also.  So I don't have any particular -- do you want to just go around the room starting with Randy and moving down this way?

MR. SHEPHERD:  I am happy to go last.

MR. GARNER:  Okay.

MS. DJURDJEVIC:  All right.  Thank you, so Mr. Aiken, I guess you are up.
CANADIAN NIAGARA POWER INC.

Brian Vander Vloet
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EXHIBIT 1
Questions by Mr. Aiken:


MR. AIKEN:  Okay.  I sent my questions in, or David MacIntosh sent the Energy Probe questions in last week.

I have one question on Exhibit 1.  It has multiple parts.  I don't know, Ljuba, do you want to mark this as an exhibit?

MS. DJURDJEVIC:  All right.  So this is Energy Probe's questions?

MR. AIKEN:  Yes, Energy Probe technical conference questions, October 26th.

MS. DJURDJEVIC:  And that will be...  Questions sent October 26th?

MR. AIKEN:  Yes.

MS. DJURDJEVIC:  That'll be Exhibit KTC1.1.
EXHIBIT NO. KTC1.1:  ENERGY PROBE TECHNICAL CONFERENCE QUESTIONS SENT 26 OCTOBER 2016.

MR. AIKEN:  That way I don't have to read the entire question in all its parts.  And I can just summarize this question.  This is for -- I am looking for an updated and corrected revenue-requirement work form that reflects the different items I have listed in here.

In addition to what I have asked for here, if you could update that for the cost of capital parameters that came out last week as well.

MR. BEHARRIELL:  Yes, absolutely.

MR. AIKEN:  So you will undertake to do that?

MR. BEHARRIELL:  Absolutely, and every item that you have listed here, there is an explanation for it, so we can provide it if there is any clarification required, provide that with that undertaking, if necessary.

MR. AIKEN:  Okay.

MR. BEHARRIELL:  Yes.

MS. DJURDJEVIC:  That will be Undertaking JTC1.1.
UNDERTAKING NO. JTC1.1:  TO PROVIDE AN UPDATED AND CORRECTED REVENUE-REQUIREMENT WORK FORM THAT REFLECTS THE DIFFERENT ITEMS LISTED; ALSO, TO UPDATE THE COST OF CAPITAL PARAMETERS THAT CAME OUT LAST WEEK; ALSO, FOR EVERY ITEM LISTED IN ENERGY PROBE'S LIST OF QUESTIONS, TO PROVIDE ANY CLARIFICATION REQUIRED.

MR. AIKEN:  That is my only question on Exhibit 1.
Questions by Mr. Garner:


MR. GARNER:  I want to go to 1 Staff 3.  I believe this is the first one.  And all I wanted, since I have the panel here, is, this is -- it is the last -- page 3 of 3, where we're talking about the hydro loss of supply reliability in Gananoque.  And I am wondering, could you give me just a very shorthand version of what is the problem with Hydro One at Gananoque?

MR. BEHARRIELL:  Sure, yes.  So starting in 2015 there was a string of loss of supply outages for a variety of reasons.  One was a substation fire in one of their supply substations, a number of motor vehicle accidents taking out poles that resulted in loss of the Hydro One 44 kV supply to Gananoque.

So I believe we have a lot more detail on, you know, outage by outage in 2 Staff 47, I believe.  But that is just -- it is an overall string of losses --


MR. GARNER:  Oh, okay.  What I was trying to ask, and just to get to the point, was, I was wondering if it was a particular issue with Hydro One, like a Hydro One transformation station or some particular problem.  It is a number of issues just with that.

MR. BEHARRIELL:  Yes.  It is a number of coincidental outages over a short period of time, you know, no single outage related to any other for --


MR. GARNER:  And the issue is really that Hydro One has only one supply into Gananoque?  Is that kind of what the issue --


MR. BEHARRIELL:  That's correct.  It is a radial supply.  So when the supply is lost, it is completely up to Hydro One's restoration time.

MR. GARNER:  Just remind me, I understand -- because I remember there was something in the evidence on this.  You have entered into some discussions with them about giving you an alternate supply; is that correct?

MR. BEHARRIELL:  That's partially correct.  We've asked for a costing on, you know, an alternate supply.  We have also asked them to provide any other possible solutions that may be lower cost, you know, if there is things they can do to maybe not get a fully redundant supply, but where they have other 44 kV lines in the area that could back up a portion of their radial supply, then, you know, those may be more cost-effective.

MR. GARNER:  Just remind me again, this application, is there anything specific in the four- or five-year budget, capital budget, that goes to that issue that you have planned for inside of that budget?

MR. BEHARRIELL:  No, there's not.

MR. GARNER:  Thank you very much.

I will move on to my next question.  That was at 1 Staff 5.  This is about the reliability indices.  Again, this is just a general question.  I think you can answer without bringing up the IR.

The question I had, looking at the SAIFI/SAIDI numbers coming out of CNPI was to get your opinion as to how -- I am trying to find the word -- how -- "legitimate" isn't a good word, but just let me use it.  How legitimate are the SAIFI and SAIDIs when you combine them between the two service territories?  I mean, Gananoque is quite a distance and different from Fort Erie, you know, that area, on the Niagara side.  So they're very different places.

So I was wondering if you could give us a sense of, is there, A), a large difference in the SAIDI/SAIFI of those two areas, and is it really a legitimate -- again, I don't like the word.  I know what you're doing.  I'm not saying it is illegitimate in any way, but is it really a good way to look at reliability at CNPI to combine those two service territories?

MR. KILFOIL:  Well, internally we don't generally track those two service territories as one service territory internally.  We look at EOP as a separate set of feeders and CNPI Niagara as a separate set of feeders, but for reporting purposes to the Board we have to consolidate under the one licence, so we don't -- so for purposes of responding to this rate app, yes, it is one entity, but not the way we actually deal with it internally.

MR. GARNER:  Would it be fair to say for the purpose of your capital plans that you are looking at the reliability statistics coming out of the two larger areas?  Is that the way you are --


MR. BEHARRIELL:  Yes.  I think we go even further than that.  There is a number of interrogatories that deal with feeder-level SAIDI and SAIFI, so whether it is feeders in the OP, Fort Erie, Port Colborne, we do analyze that at a feeder level and do risk performing feeder analysis, and that does inform our capital plans.

MR. KILFOIL:  Yeah, we review our outage reliability at a somewhat more granular level than operating area.

MR. GARNER:  Okay, thank you.

I am at 1 Staff 17, and this is really about a financial thing.  I think it just came up in this area by Staff.  This is about -- if you read the thing, it is about $30,000 of facilities, credit facilities, totalling 30,000, of which 15- is unused.

And my question -- and I am just reading it, so you'll have to see if it makes sense from here -- it says -- my question was, so where is the 30K now?  Is it in the cost of capital?  Is that where it's been recovered?  I think what I was trying to get to was where that number was getting recovered from when I read this.

MR. KING:  So what we -- in responding to your question -- and I think there was another question in your interrogatory -- we realized that we actually didn't have it in the revenue requirement, and so it's -- on that item, that would go in the cost of capital.

It's a fee, a letter fee that we pay to Scotiabank, who is a holder of this facility, for the letters of credit that are held by the IESO.

MR. GARNER:  So the 30k is nowhere in the application -- not being recovered in the application?

MR. KING:  Not being recovered in the application.

So in the --


MR. BEHARRIELL:  In the original application?

MR. KING:  In the original application.  In the new revenue requirement work form, I think, that we filed, we inserted that $30,000.

MR. GARNER:  Okay.  So you have adjusted it now --


MR. KING:  We have adjusted it, yes.

MR. GARNER:  -- to include it.  That's what I was trying to get to.

MR. KING:  So it’s 2.5 million in LCs times 1.2 percent, which is the LC letter fee.  And these are off balance sheet items, so they wouldn't be as part of cost of capital.

MR. GARNER:  Right, thank you.  That's my last question, so if you want to --


MR. DAVIES:  Yes.  I just wanted to ask one clarification on the credit facility.  The total amount of the credit facility is $30 million, is that correct?

MR. KING:  It is, it is.

MR. DAVIES:  And this 30,000 is a fee?

MR. KING:  Yes.

MR. DAVIES:  Okay.

MR. GARNER:  I think those were all of my questions on that exhibit.

MS. DJURDJEVIC:  Okay.  Jay, are you next?  Do you have questions on Exhibit No. 1?

MR. SHEPHERD:  Sure, but I thought I was going to go after you.  I have questions on the benchmarking stuff, and my benchmarking paperwork is on its way over.

MS. DJURDJEVIC:  Okay.  So I guess we will have OEB Staff's questions then.
Questions by Mr. Davies:


MR. DAVIES:  Thank you, yes.

I have a few questions or follow-ups on some of the interrogatories related to section 1 of the application.

The first one relates to 1 Staff 5, and that is the one dealing with severe weather events in the Niagara versus Gananoque service areas.

I would just like to ask if it would be correct to say that severe weather events are a more significant factor in impacting service quality in the Niagara area than would be the case in Gananoque.

MR. KILFOIL:  It is seasonal, and it is subject to the weather patterns in any one year.  Both facilities tend to lie along a lake.  In Gananoque's case, it is Lake Ontario and in Niagara's case, it is Lake Erie.

And Lake Erie is exposed to lake effect weather similar to what Buffalo experiences; Gananoque gets more of the St. Lawrence system.  But they are both exposed to winter storms -- generally not the same storm, and it’s often different years it is more severe in one area than the other.

MR. BEHARRIELL:  So the answer would be, it depends upon the year.  There could be years where the OP has a greater impact due to weather, and there could be years where Niagara has a bigger impact?

MR. KILFOIL:  In this specific response to Staff 5, in 2013, Gananoque had a bad storm in November of 2013.  But we did not experience a storm like that in Gananoque in 2015, which were the two years referenced in the question.

MR. HAN:  The other fact I want to point out here is that Fort Erie has -- you know, Niagara region has a bigger geographic location, and the part of the feeders is the inland sort of, not right on the coast.

Meanwhile, Gananoque is right on the water and it is a very small area.  So if the system hit it, then it would be very severe.  But if it missed it, it will miss them all.

So it is subject to really probability.

MR. DAVIES:  Okay.  So the bottom line is, there is no real clear pattern.  Some years, Gananoque could be affected more; other years, Niagara.  But on a long term basis, you don't see a real difference between the two areas, in terms of weather impacts?

MR. KILFOIL:  No.

MR. DAVIES:  Thank you.  The next question relates to 1 Staff 10, and that is CMPI's approach to customer engagement.

You were asked in this interrogatory whether or not, as part of your customer engagement efforts, you had provided customers with information on specific programs and the cost of such programs.

In the response, you stated that you had, but the references provided asked customers questions such as which of the following items are you willing to pay more for per month with generally defined programs, such as replacing aging equipment to improve safety and reliability, and the response categories shown were very supportive, somewhat supportive, neither, and so on.

So the question is:  Is there any more specific information anywhere in the customer engagement efforts that you undertook where you said to a customer, “Here is program X, and this would be the cost of this program,” or is what I just referred to in the response as specific as you got in dealing with this issue?

MR. BEHARRIELL:  Okay.  So we did include the presentations from our DSP focus groups in the application; that would be starting at page 415 of the PDF.

In those focus groups, we did present total costs of our capital plan.  Part of the feedback we received from the consultant that facilitated the customer session after we made the presentation was that customers did want to know more just overall what that meant in terms of their bill impact.

So that information was added to the presentations that we made at the community day meetings, in terms of what the bill impact coming from our DSP and our overall application was.

MR. DAVIES:  Okay.  But did you actually, at any point, say to a customer, look, you know, you can have -- I don't know -- extra tree trimming which would cost, say an extra million dollars or something like that, the trade-off being greater reliability versus here's the cost?  Did you get to any specific level like that, or was it at a more general level?

MR. BEHARRIELL:  It was a more general level.

MR. DAVIES:  Thank you.

The next question is on 1 Staff 11, and this is also on customer engagement.  And the question asked how CNPI would expect its approach to customer engagement to evolve from what is described in the present application.

And the response you gave was that you expected customer engagement to continuously evolve as more feedback is provided, and you cited an example of recent community day sessions revealing that customers, in locations where CNPI did not have a local office, would like to meet with CNPI representatives to speak face-to-face.

And you stated that in response to that concern, you had launched a pilot program called “Your Kilowatt-hour”, where a CNPI representative and a conservation specialist would spend one day a month meeting face-to-face with customers.

So the question that I had is:  In addition to efforts like that, as you would prepare your next application, would you see involving customers in the development of the DSP at an earlier stage and, if so, how would you do that?

MR. BEHARRIELL:  Well, I think on that note, the OEB obviously just released a handbook, you know, outlining some of their expectations with regards to rate applications; in particular, there is a focus on customer engagement.  The OEB is also ramping-up their customer engagement efforts.



So I think, as time goes on, we will see what the expectations are.  Some lessons learned from preparing this application is that, you know, we need to continuously evolve our customer engagement strategy.

We have plans to do that.  We have plans to bring customers in at an earlier stage on an annual basis, not just at events of a rate application, to provide updates and to solicit feedback.

I think the focus group that we did, you know, in preparation for this application, again lessons learned out of that focus group.  Maybe there is more information we need to provide and continue to build on that every year.

MR. DAVIES:  Thank you.  The next question I had related to 1 Staff 13.  I was just wanting to clarify the response to this question.

You were asked to provide a clarification a bar chart in the utility pulse survey, which showed that overall, CNPI has a standard of reliability that meets the expectations of 89 percent of its customers, as compared to 88 percent for Ontario LDCs.

I just wanted to understand a bit better exactly what comparison was being made, particularly what -- the table on page 23 shows kilowatt-hour groups 1, 2, and 3.  I am wondering, could you just clarify what kilowatt-hour groups 1, 2, and 3 are on the chart?

MR. BEHARRIELL:  Sorry, can you point me to that reference just so I can look at the same thing that you are looking at?

MR. DAVIES:  It is page 23 of the -- it is on page 23 of the UtilityPULSE survey.  And there is a table.

MR. BEHARRIELL:  Okay.

MR. DAVIES:  I think that's...

MR. BEHARRIELL:  Okay.  Sorry.  Our initial interpretation is that the different kilowatt-hour groups refer to customers at different consumption levels, so there may be differences between residential and commercial, for example.

MR. DAVIES:  So is this just different groups, like, residential, commercial, industrial customers, or is --


MR. BEHARRIELL:  I would have to undertake to give you an exact answer on that.  We would have to confer with the survey provider.

MR. DAVIES:  Okay.

MS. DJURDJEVIC:  Well, that will be Undertaking JTC1.2.
UNDERTAKING NO. JTC1.2:  TO CLARIFY WHAT KILOWATT-HOUR GROUPS 1, 2, AND 3 ARE ON THE CHART; ALSO TO PROVIDE THE FEASIBILITY OF CONDUCTING A SURVEY BY SERVICE AREA IN THE FUTURE.

MR. DAVIES:  I guess just a second general follow-up on that question is, I think that the survey -- I think it stated that the survey does not -- you do not have information from the survey by service area.

I am wondering what you would see as the feasibility of doing a survey like this by service area in the future or breaking it up into service areas.

MR. BEHARRIELL:  So I think there would be two potential issues.  One would be what would be the incremental cost of doing the survey specific to each service area.  The other would be whether, with the number of customers that are included in the sample for CNPI as a whole, if the results would be statistically significant for the smaller customer population in the EOP area, so we could -- we could undertake to provide a response on those two issues, but again, we would have to follow up with our survey provider to get exact details on those.

MR. DAVIES:  Could we put that as part of the same --


MS. DJURDJEVIC:  So make that as part of Undertaking JTC1.2?

MR. KING:  Just to be clear, so the follow-up to figure out how much extra cost it would be or the size of the population sample?

MR. DAVIES:  I think really just to give a sense of what would be the feasibility of doing it, if you think the cost would be prohibitive or the sample size would --


MR. KING:  No.

MR. BEHARRIELL:  Is that the feasibility of doing it for the next survey or the feasibility of taking the results for the survey that is in the application and seeing if they can go back and try to break that down by service area somehow in a meaningful way?

MR. DAVIES:  I was thinking more of an ongoing-type of thing, but if it was feasible in that fashion, it would be interesting to know as well.

MR. BEHARRIELL:  Okay.

MS. DJURDJEVIC:  So we have that as part of JTC1.2.  Okay.

MR. KING:  Can I just make a comment on that?  So obviously there is 3,500 customers.  There is not a -- it is a separate service territory but, you know, the cost of doing a survey would statistically crack but, you know, two or three hundred 300 respondents would be, you know, five digits would be, you know, 10-, $20,000, you know.  Just -- just -- and we will come back with that.  That is the consideration, as opposed to one survey with 28,000 customers.  And is that something the Board would like to see and provide it to us in rates, certainly obviously something we would do, but there is a cost to that.

MR. DAVIES:  I think it would just be interesting to at least get a sense as to what the trade-offs might be and what the costs would be so we --


MR. KING:  Yes, yes.  We can certainly get that and provide it and include it in revenue requirement if that is the desire.

MR. GARNER:  Martin, do you mind if I interject for a minute?

What value do you think there is in these UtilityPULSE surveys?  Did you learn anything new from the survey?

MR. KING:  I hope that can be transcribed as a laugh.

You know, we have been doing surveys for a long time.  We do surveys annually.  Our surveys have moved around quite significantly, and we have only recently moved to UtilityPULSE, because UtilityPULSE does a lot of LDCs, and we thought we wanted to compare ourselves to not so much other LDCs but, yes, to other LDCs but, more importantly, to the Ontario average that they produce.

So often we find surveys move significantly, and it is for things out of our control.  No different than our Community Day presentations when it was all about supply and costs.

So a long way of saying, there is some value in getting information back from our customers.  Is there a lot of value?  It is questionable if there is a lot of value.

MR. GARNER:  Yeah, and I guess the more specific was whether this particular survey or -- is the best means of doing what you want to do, which is to understand what your customers really want to pay for, what their concerns are.

MR. KING:  Yes.  And we have internal conversations going on -- I think Greg alluded to it earlier -- with respect to customer communications and "one-of" multi-surveys where you say, This is a transaction.  How do you feel about that?


So we're talking internally, what else can we do to reach out to our customers, as opposed to a larger annual survey.

MR. GARNER:  And just one final question on that.  Right now -- and anybody on the panel -- what do think is the most effective way that you are getting feedback from your customers right now?  What do you think is the best channels that are giving you that information?  Is it crews?  Is it people walking into your office?  What do you think?

MR. BEHARRIELL:  I think honestly it is the people on the front lines, the customer-service agents that are taking calls and speaking with customers one-on-one, and the engineering and operation staffs that are out in the field, you know, dealing with customers one-on-one.

MR. GARNER:  Do they do any reporting, like, for you, this sort of -- you could sort of see -- do they do like a monthly end sort of report, Here is the biggest concerns of customers?  Do they do any -- do you have any sort of dialogue?  Maybe not a formal report, but that kind of dialogue periodically?

MR. KING:  Nothing formal, but we will get feedback from -- certainly individuals in customer service will provide feedback if there is -- for example, you know, if you were asked in September -- big issue with customers because of the high consumption in August.  So it was a hot August, and bills were high, and we saw that when we went to Port Colborne, and customers weren't very happy.

MR. GARNER:  Right, okay.  Thank you.

MR. SHEPHERD:  Can I ask a follow-up question?

Fortis operates in a number of jurisdictions.  How is your customer engagement different than Fortis in other jurisdictions?

MR. KING:  Jay, we've over the years at times tried to compare back and forth with others, and somewhat similar, but different.  I can't really specifically comment about others.  Often questions are different, and so I can't compare my satisfaction level with a Fortis B.C. or a Newfoundland Power, because, you know, a lot of those, they do it quarterly, they have different questions and different means.

MR. SHEPHERD:  Sorry, I wasn't thinking about results.  I was thinking about methods.  Do you engage your customers differently than others in the Fortis group of companies?  Are there things that you can learn from what other people do within the group?

MR. KING:  Yes, yes.  So we have a Customer Service Working Group, you know, within the Fortis group.  So we would get together for a day and share best practices.

So right now that's -- that happened years ago, and there was a meeting in November or early December.  So we do share best practice.  That's one of the things we do amongst the companies.

MR. SHEPHERD:  Are there things you are doing now that the other Fortis companies are saying, hey, you're wasting your time, like UtilityPULSE, for example.

MR. KING:  I can't say off the top they've said that to us, that we're wasting our time.

MR. SHEPHERD:  Okay, thanks.

MR. KING:  But these are for the most part larger utilities, and we would get some good advice from them on what they use and how they would contact their customers and what they believe works.  They're a little more sophisticated than we are in some of those avenues.

MR. SHEPHERD:  Thanks.

MR. DAVIES:  I have a question on one further interrogatory in this section, and that is 1 Staff 16, which is the benchmarking spreadsheet forecast model.

I was wondering if you could elaborate a bit more on what you mean by the statement in your response which reads: 
“The misalignment between CNPI's cost drivers in a cost of service application and the model coefficients developed for benchmarking in the context of incentive ratemaking results in an increasing differential between actual and predicted total costs.”

And specifically, given that statement, what use do you think the results of this model would have, from the point of view of this proceeding?

MR. BEHARRIELL:  Sure.  So the model itself is based on 2002 to 2012 data.

So, you know, since 2012, there have been changes to the regulatory environment; the RRFE, the requirement to file distribution plans.  There have been external cost drivers, changes in legislation, you know, updates to health and safety and environmental practices to comply with legislation.

So to the extent that the model still uses that 2002 to 2012 data, and we have cost drivers that have changed since 2012 -- and we have outlined a number of those in our DSP and throughout our application -- those cost drivers would put a pressure on costs that isn't reflected in the coefficients used in the model.

MR. SHEPHERD:  Can I follow up?  I am going to ask you some questions about benchmarking, but that just struck me as your -- what that appears to say is that all past data is useless and therefore, any empirical benchmarking is not helpful.

I am wondering what you would propose as an alternative, if using data that's -- some of it is no more than four years old is not valid.

MR. BEHARRIELL:  I don't think I suggested that at all.

I'm suggesting that we have cost drivers that are perhaps not reflected in this model, so perhaps more frequent updates of the data set used in the model would be more appropriate.

Right now, the Board is, from my understanding, updating the model every time they start a new IRM regime, rather than updating it annually.  Maybe there is value in updating that data on an annual basis.

MR. SHEPHERD:  Thank you.

MR. DAVIES:   Thank you, those are all of my questions on section 1.
Questions by Mr. Shepherd:


MR. SHEPHERD:  All right.  I have a number of questions, starting with 1 Staff 3.

So you had a community meeting -- or a couple of community meetings, I guess -- and on page 2 of 1 Staff 3, you say that you had some miscommunication with Board Staff and you couldn't find out which of your customers were there at the meetings.

MR. BEHARRIELL:  That's correct. 

MR. SHEPHERD:  Can you expand on that?

MR. BEHARRIELL:  So Board Staff took registration at the meeting, and my understanding is they didn't get customer consent to share that registration and contact information with CNPI.

MR. SHEPHERD:  Why was Board Staff doing the registration?  Why weren’t you doing the registration?

MR. BEHARRIELL:  It was Board Staff's meeting.

MR. SHEPHERD:   All right.  How many customers were there?

MR. BEHARRIELL:  Approximately, I believe about a hundred customers at each of the two meetings, more or less, I mean.

MR. SHEPHERD:  Okay.  My next question is on 1 Staff 8, and you said in your application that -- and you said it again just a few minutes ago, that your more severe weather means that you have certain impacts on your costs.

But then on page 2 of this interrogatory, you said you haven't undertaken comparisons of the impact on severe weather on your costs.

What is your basis for saying it costs you more to run your utilities than the others because of severe weather, if you haven't done any studies on it? 

MR. HAN:  We did not say this compares with other utilities.  We just say that by the statistics, about half of outages are caused by weather-related event.

MR. SHEPHERD:  Sorry.  You said in your evidence, it is quoted right in the interrogatory, that you are subject to more severe weather.  Presumably, that is more severe weather than other utilities, right?

MR. BEHARRIELL:  I think that is in the context of the management discussion analysis in the score card.  You know, we don't have a firm comparison between ourselves and other utilities, but our operating experience over the years has been when we get storms, it is the areas right along the lakes that are typically more severely impacted than the inland areas.

MR. SHEPHERD:  So I guess my question is, why haven't you studied it, then?  I mean, if this is a material impact on your costs or on how you run your utility, why haven't you -- why haven't you taken the time to study, A), how much worse your weather is, and B), what the impacts are on your costs?

MR. HAN:  We can't study other utilities’ weather impact to their reliability.  We do not have the data for their reliability records.

We can only say our own records.  We are only recording our own events.  We do not record other people's outage events.

MR. BEHARRIELL:  It is public information as a whole on a consolidated level by utility.  But for example, you know, we're in Toronto right now.  They have areas along the lake and areas inland.  We can't tell from their data what the difference in weather impact along the lake versus some of the more inland areas is.

And I guess the question is, you know, in studying those costs, what value does that add to our utility?

So we mentioned that in our score card MDNA.  But, you know, we can't move our customers further inland from the lakeshore, so the impact is what it is.  You know, can we address it in our capital programs?  Sure we can consider differences in tree trimming, differences in construction standards, on a go-forward basis.

MR. SHEPHERD:  But you can only address it if you know what the impacts are, right.  So you need to know that if you -- if you improve your pole management, that will solve the problem or solve it more than tree trimming or something else.  You haven't done any of that, right?

MR. BEHARRIELL:  We haven't done any studies in comparison with other utilities.  Have we looked at, you know, actual wind speeds from weather events and considered that in comparison to our design standards?  Of course we have.

MR. SHEPHERD:  Oh, so you have studied the impact of severe weather on your costs?

MR. BEHARRIELL:  Not specifically to break it out as, you know, a line item that --


MR. SHEPHERD:  Okay.

MR. BEHARRIELL:  -- you know, in the context of that reference.

MR. SHEPHERD:  All right.  My next question is on 1 Staff 11.  1 Staff 11 talks about -- I have two questions on this.  First of all, I want to follow up on what Martin had to say about involving customers in the development of the DSP, and I have sort of two parts to that.

One is, have you got any feedback from customers that they would like to be involved in that part of the process?  Has any customer said to you, I would like to be at the table earlier when you are talk he can about your capital plan or your distribution management plan?

MR. BEHARRIELL:  I don't think we have specifically gotten that feedback and, to be honest from the focus groups, customers have a hard time translating that DSP.  It is quite technical.  They have a hard time translating what that means to them.

MR. SHEPHERD:  So then, the second part of the question is:   Do you see any value in involving the customers earlier in the process, or advantages and disadvantages in involving them earlier in the DSP process?

MR. BEHARRIELL:  I mean, I think we have done it once in the context of this application.  You know, we have some feedback from the consultant, with some lessons learned.

I think we have to try to build on that to see how we can try to make it more relevant to the customer between now and the next application to really assess, you know, whether we can evolve that in a way that adds value to the customer.

And that is certainly something we can ask the customers in future focus groups, whether they see any value of having attended the session.

MR. SHEPHERD:  But this would be then about changing your DSP process to make it more accessible to customers;  is that what I heard you say?

MR. BEHARRIELL:  I don't think I said it quite like that.  I think we have to -- not necessarily make the process more accessible, but explain in a way that is more understandable to the customer what the inputs are, what some of the mechanisms in the process are, why we have to do certain things, and somehow make that meaningful to them.

MR. SHEPHERD:  All right.  My actual question I originally planned to ask on this, which I will still ask, is about your pilot program to go in and talk to customers face-to-face on a one-on-one basis, which seems pretty cool.  And I actually haven't heard of anybody else doing this.  Maybe somebody else is, but I haven't heard of it.

So you have had one already in October, right?

MR. BEHARRIELL:  We did, yes.

MR. SHEPHERD:  What was it like?  Tell us about it.

MR. BEHARRIELL:  So we had three customers sign up ahead of time and meet with us.  Each customer, from my understanding, met with us for about an hour.  We signed them up for e-billing, explained equal billing options to them.  We had a CDM representative there to provide them some advice on opportunities for conservation.  The feedback was generally quite positive.

So now we're taking that feedback and for the next session kind of evaluating, you know, what changes we can make in terms of marketing that program to our customers.  And it is, you know, a balance of being there for, you know, a six-, seven-hour period.  You know, we obviously can't take 100 people at every session, so we have to balance the marketing in a way that we can ramp this up, make it accessible to customers and, you know, hopefully get a good turnout every time.

MR. SHEPHERD:  Yeah, it wasn't -- with three customers it wasn't very cost-effective, but it is only a start, right?

MR. BEHARRIELL:  It's a start, and that is why it is a pilot.  So we had three customers attend.  I mean, to have someone from customer service and a CDM person out there, you know, we're not bringing people in to do this.  We're not adding costs to do this.  So if we can reach, you know, a handful of customers every time, and maybe we can do things to get the appointments slightly less than an hour and get more people into each session.  So it's --


MR. SHEPHERD:  Originally it was supposed to be ten or 15 minutes, right?

MR. BEHARRIELL:  Yes.  So -- and maybe the hour-long appointments were a result of just the low turnout.  We had the opportunity to, therefore, you know, meet with them as long as they wanted to meet.  You know, if we had a higher sign-up before the meeting, we may have had to limit the sessions more to that ten-, 15-minute range.

MR. SHEPHERD:  These were residential customers?

MR. BEHARRIELL:  As far as I know, yes.  They were residential customers.

MR. SHEPHERD:  Have you started to get registrations for November 18th?

MR. BEHARRIELL:  We have one registration currently, and we're looking at, you know, ways that we can further reach out to customers.

MR. SHEPHERD:  You're still marketing it, right?

MR. BEHARRIELL:  What's that?

MR. SHEPHERD:  You're still marketing it.

MR. BEHARRIELL:  Yes.

MR. SHEPHERD:  Okay.  My next question is on 1 Staff 14.  This was a question about the -- I guess the UtilityPULSE survey, which didn't ask about billing problems in prior years and did in 2015, so it looked like you suddenly got really bad.  But 14 percent still seems high.

MR. BEHARRIELL:  Yes.  And --


MR. SHEPHERD:  Have you looked into that?

MR. BEHARRIELL:  If I could take you to page 54 of the survey, which is page 194 of the PDF for the application.

MR. SHEPHERD:  Yes.

MR. BEHARRIELL:  So when they break down the types of billing problems, you know, 78 percent, which is the vast majority, was that the amount owed was too high.  So people are -- you know, it is not an accuracy issue with the bill.  It is that people don't believe they should be paying as much as they're paying.

MR. SHEPHERD:  Okay.  So have you talked to UtilityPULSE about improving the survey so that it zeros in on what you are actually after in that question?

MR. BEHARRIELL:  I mean, it is the first year we have used them, in 2015, so we haven't had that discussion.  We can certainly do that for the next survey.

MR. SHEPHERD:  Okay.  So my next question is on 1 Staff 16, and I have some handouts which I sent to you.

MR. BEHARRIELL:  Yes.

[Mr. Shepherd passes documents out to intervenors

and witness panel.]

MR. SHEPHERD:  So we are not singling you out.  Everybody gets this table.  Some people look better than others on it.

MS. DJURDJEVIC:  In the meantime let's make this an exhibit.  So it will be KTC1.2. 
EXHIBIT NO. KTC1.2:  HANDOUT.

MR. SHEPHERD:  And I want to start with the benchmarking results.  So we have six years of benchmarking results here.  These are all from the PEG studies.

MR. BEHARRIELL:  Yes.

MR. SHEPHERD:  First of all, have you checked to see whether these appear to be accurate to you?

MR. BEHARRIELL:  They appear to be accurate, yes.

MR. SHEPHERD:  All right.  And so -- and then you have admitted your benchmarking isn't that good, right?  You are not benchmarking well relative to your peers.  Fair?

MR. BEHARRIELL:  I think the benchmarking model benchmarks us relative to ourselves in terms of what the model expects our costs to be and what it calculates our actual costs to be, and so that --


MR. SHEPHERD:  You think this compares you to yourself?  Because that is not what PEG said.  What PEG said is that they're creating a standard for the Ontario industry.

MR. BEHARRIELL:  Yes.

MR. SHEPHERD:  They're comparing you to that standard.  Expect it is the standard, right?

MR. BEHARRIELL:  And it produces an expected cost for each utility and a calculated actual cost for each utility, yes.

MR. SHEPHERD:  Okay.  So you have been well above expected costs for years, right?

MR. BEHARRIELL:  According to the model, yes.

MR. SHEPHERD:  Well, okay.  So is the model wrong?

MR. BEHARRIELL:  I think the model was developed in the context of benchmarking to put utilities into cohort groups for IRM ratemaking.

It has just recently been introduced as a filing requirement in the cost of service, in terms of, you know, filling out the OEB's benchmarking forecast model.

So I am not saying the model is right or wrong.  I'm saying it provides a predicted cost and it calculates an actual cost, which isn't, you know -- doesn't tie in any way to our revenue requirement.  Some portions of it are actual costs.  Some portions of it are calculated capital actual costs.  And this is the result that it produces.

MR. SHEPHERD:  So you're not saying you're asking for -- for example, you're forecasting 16.2 percent above expected.  So you're not saying -- if I understand what you're saying, you're not 16.2 percent above what you should be on revenue requirement?

MR. BEHARRIELL:  That's correct.

MR. SHEPHERD:  So why do you think that?

MR. BEHARRIELL:  Because the costs calculated by the model, even though they're labelled as actual costs in the model, they don't tie specifically to the revenue requirement.

MR. SHEPHERD:  So then what can you learn from this benchmarking comparison?  You as a utility.  What can you learn from it?

MR. BEHARRIELL:  From the comparison that you provided us --


MR. SHEPHERD:  Well, the comparison I provided and the comparison that you've done yourself for 2017.

MR. BEHARRIELL:  So I think what we can learn from that comparison is that, you know, the model produces a result, and we have to look at whether we have justifiable cost drivers that maybe aren't captured by the model that have influenced our application, and whether those cost drivers are meaningful and justified and appropriate in the context of this cost-of-service application.

MR. SHEPHERD:  That doesn't -- sorry, maybe I misstated my question.  I am trying to understand how you can take information from the benchmarking data that the Board has stipulated --


MR. BEHARRIELL:  Right.

MR. SHEPHERD:  -- take that information and improve how you run your utility.

MR. BEHARRIELL:  Well, I don't think we make budgetary decisions based on the results of this benchmarking model, specifically for the reason that, A), it doesn't capture all the cost drivers, and B), it doesn't calculate costs that ties to revenue requirement.

MR. SHEPHERD:  So you just ignore it when you do budgets?

MR. BEHARRIELL:  I never said we ignore it.

MR. SHEPHERD:  You said you don't take it into consideration.  I am just trying to understand.

MR. BEHARRIELL:  Sorry, so we don't let it be the sole influence of our budgeting process.  So if it produces a result and we're still in the fourth cohort group with these results, the results are up and down historically over certain years --


MR. SHEPHERD:  Well, that's why we gave you the six years.  And now of course we have eight years, because we have -- or we have seven, because we have 2017, because you were improving from 2010 to 2012, and then you sort of slowly are starting to get worse and worse, and now you are as bad as you were in 2010.

MR. BEHARRIELL:  When we looked at the PEG report, they specifically mention that in 2012, a lot of distributors looked like they were improving.  There were data quality issues, I believe, related to certain Smart Metering costs associated with that model.

So again, there are flaws in the model, and while we accept the accept the results of the model for core and group assignment for IRM benchmarking, we don't believe that the model is an appropriate tool to run our business by.

MR. SHEPHERD:  So how do you use the model in doing budgeting?  Like, do you use it as sort of a target in any way?

MR. BEHARRIELL:  No, we do not.

MR. SHEPHERD:  No?

MR. KING:  No.

MR. SHEPHERD:  All right.  The Board appears to be going in the direction of giving more weight to benchmarking, right?

MR. BEHARRIELL:  Right, and I would expect – yes, sorry, yes.

MR. SHEPHERD:  And so I guess a lot of people in the sector -- and maybe not you, but a lot of people in the sector think that at some point, your budgets are going to have to be constrained by benchmarking results.

I guess my question is -- and I am not asking you to agree with that.  But my question is, do you have a plan to get your benchmarking results more closer to your expected costs?

MR. BEHARRIELL:  Well, I think what you have suggested is a fundamental change in the industry, if the Board expects budgets to be tied to benchmarking results.

And I would expect that in that case, that there would have to be significant stakeholder consultation.  We would have to potentially engage consultants to review, you know, the model as a whole, and how it relates specifically to our utility, whether the values that are statistically significant on the province as a whole are in fact appropriate to a utility.

You're talking about a fundamental change in process.

MR. SHEPHERD:  Okay.  And that's why I didn't ask that part of the question.  But that's fine, that’s useful.

But what I am asking is about your planning.  You have the Board telling you that your costs are too high relative to where they should be.

Do you have a plan to get them back in line -- not back in line, but in line for the first time with expected costs?

MR. KING:  Jay, when we do our budgeting, we are aware of where we stand with regard to cohorts, but it is not a driver.

You know, we look at our costs and we look for efficiency improvements.  We look for reliability improvements in customer service, but it doesn't -- this PEG report doesn't drive our business decisions.  We are aware of it.  We would like to get there.  It is a bit of a mystery, some of the numbers that come out of it.  But in our budget, we are always looking for efficiencies.

MR. SHEPHERD:  All right.  So then the other part of this is, of course -- and you have said the PEG results aren't comparable to your revenue requirement.  But in fact, your rates are significantly higher than the averages in the industry, right?

We have given you a table of all of the 2016 approved rates to see what the distribution charge is for each category, and you appear to be higher on all of them, and among the highest in the province.

And so my question is:  (a) is it reasonable to think that that is because your actual costs are higher than expected?  Is there a tie between the two?  And (b), do you have a plan to get your rates back down to industry averages?

MR. BEHARRIELL:  I don't accept that there is necessarily a tie between the two, I guess, nor do I accept that the rates between all utilities in the province should be equal as a starting point.

Different businesses have different cost drivers, different customer counts, different throughputs, different cost pressures.  That's what rates come from; they come from revenue requirement, customer accounts --


MR. SHEPHERD:  I would understand if you were in the middle of the pack, but you are almost the worst.  In terms of rates, you are almost the worst.

I mean, is only your affiliate and Toronto-Hydro, who nobody thinks has good rates, it’s only those two that are worse than you.  I guess I don't understand -- and if I am starting to get into cross-examination, I apologize.  I am not intending to.

I am actually trying to give you an opportunity to explain how you view this data.  How does this drive what you are doing?

MR. BEHARRIELL:  So again, I think, you know, I mentioned where rates come from, from revenue requirement, from customers, from throughput.

And I think you know, to really answer your question, I would have to understand whether every one of these utilities on the list is investing capital at, you know, a sustaining pace; are they over investing, under investing?  Simple differences between, you know, weighted average cost of capital, investment levels, things like that would all influence these rates.

So, you know, I can't tell you where we should be in relation to other utilities.

MR. SHEPHERD:  All right.  My next question is on -- oh, that's all of my questions on section 1.

MR. BEHARRIELL:  Thank you.

MS. DJURDJEVIC:  Okay.  Anybody else have questions on Exhibit 1 or any follow up?
Continued Questions by Mr. Garner:


MR. GARNER:  If I could follow up Mr. Shepherd's thing on the model.

The thing – and again, I don't want to belabour it, but the thing that I guess I'm trying to grapple with when you talk about that is, it would seem to me -- based on what you’ve said -- is you're describing that the model somehow is non-reflective of things that can happen at CNPI that don't happen somewhere else, or --


So wouldn't your next step be to discover what it is that you think makes those differences, why those differences happen in your area versus other areas, like just to investigate those concepts?  Have you done any of that?

MR. BEHARRIELL:  Okay.  And to clarify, I never suggested that the model, you know, the cost drivers related to CNPI since 2012 that aren't reflected in this model, I never suggested that those cost drivers don't equally apply to other utilities.  The data set ends at 2012.  They may equally apply to every other utility out there.  The data set hasn't been updated.

MR. GARNER:  I see.  So the argument that you are presenting, or the point you are presenting is -- because I am getting a little confused, because I’ve heard two things.

I hear this issue about the data set, and the model’s output therefore is not as accurate as could be because of that; I understand.

But isn't the other point you were making was that there were issues within CNPI that might differ from other utilities and those, in and of themselves, might make a difference to the outcomes of the model?

MR. BEHARRIELL:  I'm saying it is both, and there could be a combination of both.  I want to clarify I wasn't suggesting -–

MR. GARNER:  I want to concentrate on the latter, though.  I understand the one about the data; I appreciate your point.  What I'm trying to understand is if the latter point is there might be these things, whatever these things are, have you taken any steps to investigate what those things are, so that you can understand why you are becoming different than other utilities?

MR. BEHARRIELL:  So we have looked at cost drivers and we have identified, you know, specific cost drivers, you know, the Emerald ash borer program for example, that we introduced in this application.  That wasn't around in 2012; that wasn't a consideration.

That may impact CNPI and other utilities differently than it does certain utilities in the province.  That’ where it could be a combination of both.  It could be, you know, something that’s a change since 2012, and it could be something that impacts some utilities more so than others.

So we have looked at things like that.  You know, I will go back to Mr. Shepherd’s point earlier that -- you know, suggesting that there may be a fundamental change in the way that the Board intends to apply this model.

So we have accepted the model for the purpose of IRM ratemaking, where it puts us into a cohort group, and we have accepted the stretch factor that goes along with that.  And as Mr. King said here, you know, we do continuously try to identify cost efficiencies and strive for that.  If there's going to be a fundamental change in how this model is applied, we would have to look at it, and we would have to --


MR. GARNER:  Right, okay.  And I don't know if that will happen or not.  I was just wondering more if you had taken a look and to give you an example, to say, well, as we were talking about earlier, lake front utilities have different drivers than non-lakefront utilities and therefore you would want the model to adjust in some fashion.  That kind of stuff, you have not done that kind of level --


MR. BEHARRIELL:  No.  And in the context of IRM ratemaking, really, you know, if that put us into cohort 3 instead of cohort 4, the materiality of that probably doesn't warrant the costs associated with investigating that.  If the intent is to apply the model on a cost-of-service basis, that is a whole different story.

MR. GARNER:  I see, okay, thank you.

MS. DJURDJEVIC:  Okay.  So we have, I guess, wrapped up Exhibit No. 1, and we will move on to Exhibit No. 2.  Again, in the same order, starting with Mr. Aiken, or does anybody else want to go first?

MR. AIKEN:  That's fine with me.

MS. DJURDJEVIC:  Okay.
EXHIBIT 2

Questions by Mr. Aiken:


MR. AIKEN:  Again, I don't have a lot of questions on Exhibit 2.  My first one is on the response to 2 Staff 18 and specifically the response to Part B, where it indicates that there is a $30,000 difference between the current proposal, which I take it is the revenue offset approach, and the previous approach of allocating a portion of the shared capital costs to related companies.

My question is, what accounts for this $30,000 difference?  Was it just something that was overlooked in the previous methodology or...

MR. VANDER VLOET:  The primary focus of that difference is the fact that rate base is used as a basis in calculating required regulated income and the tax model.  And so adjusting the rate base by no longer removing the actual assets themselves and keeping them in rate base has resulted in that primary difference of 30,000 in the revenue-requirement calculation.

MR. AIKEN:  Okay.  I thought you mentioned something about the taxes.  Was it the -- you're allocating different taxes associated with that rate base than you did before?

MR. VANDER VLOET:  The tax model starts off by calculating the required net income using the rate base calculation as a starting point.  So by no longer removing the assets, our rate base starting point to calculate the required net income is slightly higher and, therefore, the difference in the income-tax calculation that results from that primarily attributes to the $30,000 difference in revenue requirement.

MR. AIKEN:  I guess my question then is, that $30,000 difference should have been recognized in the previous methodology, but wasn't.  It was the rate base impact without the PILs impact or, in your case, the normal tax wasn't recognized in the cost to your affiliates.

MR. VANDER VLOET:  That's correct.

MR. AIKEN:  Okay.

MR. SHEPHERD:  Sorry, can I just follow up on that?

MR. AIKEN:  Sure.

MR. SHEPHERD:  Is that the right direction?  Because I thought when I read this that it was the opposite, that the old method correctly calculated the tax impact and the new method doesn't include a tax impact.  Is that right?

MR. VANDER VLOET:  So in the income-tax model itself, the starting point is looking at the rate base itself.  And formerly when we allocated the assets out to our affiliates, that would result in a reduced rate base starting point in the income-tax model.  Now that we're --


MR. SHEPHERD:  Which would reduce the tax.

MR. VANDER VLOET:  Pardon?

MR. SHEPHERD:  Which would reduce the tax, right?

MR. VANDER VLOET:  That's correct.

MR. SHEPHERD:  And so now you're charging it across and you're not taking that tax reduction into account.  Isn't that right?

MR. AIKEN:  If your revenue requirement is going up $30,000 because of the new approach, does that mean you are not charging your affiliate through the revenue offsets for the taxes on the rate base that is used by them, I think is what Jay is saying.

MR. KING:  I think you're correct in saying that.  Yes.
MR. SHEPHERD:  So that means that the new method is too high.  You are charging too much.

MR. KING:  I think it is the other way.  The new method is actually too low.

MR. AIKEN:  The revenue is too low.  The revenue offset should be higher to account for the tax impact.

MR. SHEPHERD:  The previous method would have had a lower revenue requirement, right?

MR. KING:  The previous method would have had a lower revenue -- overall revenue requirement.

MR. SHEPHERD:  So why did the revenue requirement increase?  The answer is, because the ratepayers are not getting credit for the tax impact.  So I think the new method has to be wrong.

MR. KING:  But I think it is wrong in the way of what Mr. Aiken has referred to.

MR. AIKEN:  Let Bill jump in here.

MR. HARPER:  Can I go through it?  Because actually, I had precisely this question but related to Exhibit 3 and other revenues, because I think both accounts 4325 and 4375 -- which are revenue accounts -- both include charges to other -- charges to third parties, but mainly affiliates for asset utilization, mainly IT assets.

My question was, in both of those -- and in both cases it talks about how the charge is meant to recover depreciation and return.

And my question was going to be, in both of those, in calculating that return, did you include an allowance for PILs on the return in calculating the amount of revenue that had to be charged out for each of those two accounts?

What I am hearing, the answer is no.

MR. KING:  The answer is no with respect to -- in both cases, you know, the ones with the IT with associated companies, it's a little different, in the sense that the methodology to get there, we didn't calculate PILs, but it was more about, this is a commercially negotiated contract with those parties.

But with the change in methodology here, the cost of capital has not -- or the ROE has not been grossed up to take into account the income tax.

MR. HARPER:  Okay.

MR. SHEPHERD:  Wouldn't that make the revenue requirement lower now?

MR. KING:  Pardon me?

MR. SHEPHERD:  Wouldn't that make the revenue requirement lower now than it was before?

MR. KING:  Well, yes.  If we're going to make the other revenue higher, yes.

MR. HARPER:  It would make the base revenue requirement lower.

MR. KING:  The base revenue would be lower.

MR. SHEPHERD:  All right.

MR. AIKEN:  My next question is on the response to 2 Staff 47.  And it is a clarification of the customer numbers used.

In Appendix 2L, in Exhibit 4, the total number of customers is 28,781 in the test year, whereas in the table provided in response to 2 Staff 47 it shows 28,863.

Is the 80-some difference the number of customers associated with the street, sentinel, and USL rate classes?

MR. BEHARRIELL:  No.  The only difference is that the numbers in 2L for 2015 to 2017 are annual average counts, so basically a mid-year count, where in 2 Staff 47, to be consistent with prior benchmarking results, we used year-end customer counts.  So that is the only difference in those numbers.

MR. AIKEN:  Those are year-end?

MR. BEHARRIELL:  Yes.

MR. AIKEN:  And is that your understanding of what the PEG benchmark model uses, is year-end numbers?

MR. BEHARRIELL:  We have tied the customer number inputs in the PEG benchmarking model back to the yearbooks of distributors which are year-end numbers.  So that's our understanding, is that to be consistent with past results, yes.

MR. AIKEN:  Okay.  My next question is on the responses to 2 VECC 11 and 2 Energy Probe 5.  And specifically, if you could reconcile the September 30th, 2016 figures for actual capital contributions shown on the VECC response of a million-thirteen-thousand-seven-hundred-and-eighty-two dollars with the figure of 229,598 shown in the January to September column in the fixed asset continuity schedule provided in the response to Part B of Energy Probe -- of the Energy Probe response.

MR. VANDER VLOET:  So in the VECC response indicating the million-thirteen-thousand-seven-eighty-two, that amount relates to projects that have commenced in 2016 for which contributions have been billed.

What is reflected in the $229,000 figure provided in 2 Energy Probe 5 is the amounts that have been capitalized year to date; i.e., the projects have been completed between January to September of 2016.

MR. AIKEN:  So the balance of the million and change in the VECC response is included in the October to December column; is that correct?

MR. VANDER VLOET:  That's correct.

MR. AIKEN:  Okay.  Those are my questions on Exhibit 2.  Thanks.
Questions by Mr. Garner:

MR. GARNER:  Thank you.  And that took care of at least one of my questions.  Sorry, let me just back up.

I think my first one was on 2 Staff 21.  This was the outliers to the Kinectrics study for the depreciation rate.  My only question for this was -- you have a few items that are not within the Kinectrics.  My only question was materiality.

Is this difference of any material amount, if you were to be within the Kinectrics range, because I think you have a couple of assets that are outside of it?

MR. VANDER VLOET:  We haven't specifically identified and quantified the difference and utilized the different number of years.

But we have helped to identify and explain away, in the appendix 2 B referred to, some of the rationale for combining the assets and utilizing the same number of useful life years.  And that's been presented in the 2013 application as well.

MR. GARNER:  Yes, I understand what you are rationalizing.  I was just trying to get an understanding of whether there was in fact -- you don't have to give me a dollar range -- if you have a sense yourself whether there was any real material difference in the depreciation rates, had you not done what you did.  I mean, would it have made any real big difference to this application in any event?

MR. KING:  I don't think we can quantify or even -- I wouldn't want to say anything on the stand, because I can't -- I would be speculating at best here.

MR. GARNER:  Okay.  Let me leave that for now.  Let me think about that.

My next question is on 2 Staff 24.  This is about the testing of the poles and you will see at page 6 of 7 to that response, you have: 
“CNPI has not completed any significant portion of its pole testing program.”

And I got a little confused as I read the evidence, because I did remember reading something about pole testing or pole surveying somewhere in support of the program you have for replacing some poles.

Can you just tell me what CNPI has and has not done in assessing the poles that it has right now, in support of the program it is putting forward.

MR. KILFOIL:  In 2011, we wanted to get an overall understanding of the general condition of our assets across the board, but we didn't have -- we didn't have the – we chose not to test every pole, so we did a sample and we did a little bit of probability theory and sampling theory, and we realized if we tested about 10 percent of our poles randomly, then we would get a pretty good sense overall by extrapolation of the condition of our system.

So we tested what turned out to be 10.8 percent of our poles, and we used those numbers to inform ourselves as to what our budgetary level spending should be on pole replacements and so on.

Starting in 2016, during – sorry.  In 2015, we decided to test all of our poles on a five or six year cycle starting in 2016.  So, you know, to more like -- to do an actual census of our poles, so we’d get an idea pole-by- pole of specific poles and specific conditions.  So that program is just underway now.

MR. GARNER:  And that then is a five-year program, so it will be completed in 2021?

MR. KILFOIL:  2020.

MR. GARNER:  Is when it would be completed?  Thank you.

MS. DJURDJEVIC:  Mr. Garner, are you finished or do you have something else?

MR. GARNER:  Pardon me.  I am pausing to look through my notes for each one here.

MS. DJURDJEVIC:  No problem.

MR. GARNER:  Can I go to 2 Staff 46?  This was about -- this goes to a bit about the service quality.  But in this case, this was about outages and supply outages, and the issue really was about joint use poles and restoration time.

You spoke a little bit earlier about this car striking poles, et cetera.  On these joint use poles that you have with Hydro One -- what I am really getting at is the time to respond and correct the problem.  On these joint use poles you have with Hydro One, whose responsibility is it to fix the problem?

MR. HAN:  The responsibility -- it depends on the nature of the issue.  If we own the pole for those sections of poles – okay, let me back step a little bit.

The 44 kV supply line from Hydro One’s TS to our substation is about 35 kilometres.  Along this 35 kilometres, there is -- about seven kilometres are joint use with Canadian Niagara Power Poles.

So the rule is that we own the pole.  If the cost is due to us and we can fix the problem, we will fix it.

However, if the problem is at a Hydro One circuit, then Hydro One has to come in to fix that.

If the pole has to be replaced because Hydro One's circuit has to be re-established, Hydro One will do that.  In that particular area, Hydro One does have higher trucks.  We cannot reach the stuff on some poles; they're too high.  So we have to wait until their trucks come over to fix the problem.

MR. GARNER:  How does that impact response time when you have an outage for customers?  I guess what I am asking is, how fluid is that system to understand, discover who is going to fix the problem?

MR. HAN:  The first call -- remember, this line is not only is supplying us, but also supplying a Hydro One station as well besides us.  So there is two Gananoque substations; one is owned by CNPI, one is owned by Hydro One.

So when the line is off, the customers supplied by both substations will be off at the same time.

So Hydro One will get that call as well and we -- from Hydro One’s perspective, we're one customer.  Our customers call us.  We call Hydro One.  And the Hydro One customer directly calls Hydro One.  It depends on where they get there first.

But if it comes from us, usually we have an idea because we send out our linemen to go there and look, to see what is the problem.  Because when the call comes in, we don't know what the problem is, so we go and look at it.

If we identify it as our problem, as I said, we fix it.  If we identify it as a Hydro One problem, we call Hydro One.

MR. GARNER:  Okay.  So are you telling me that really then it doesn't have any – this arrangement doesn't have any impact on the duration of the outages in your service territory?

MR. HAN:  It does, because when the -- let's say a car accident hits a joint use pole, two circuits, and our circuit is down and of course the supply line is down.

So that moment, outage started for our customer.  And then we call Hydro One to say, hey, we've got a problem.  It could be an hour late.  It depends on the timing, because it is the middle of the night and I have to call the crew out, and all of this stuff.

So when we call Hydro One, and we say you've got to come and Hydro One comes over, and they -- if they can fix it, they fix it right away.

If they can't, they have to wait -- if the pole is broken, they have to wait until a bigger truck can get a pole over.

MR. GARNER:  You don't have to do any subsequent work to Hydro One's work on the same --


MR. HAN:  We have to do ours, because usually when the pole is broken, our stuff gets damaged as well underneath.

MR. GARNER:  You need to get out there, too?  You need to coordinate the work with them; is that what you have to do?

MR. HAN:  Exactly.

MR. KILFOIL:  We each have our own outage response Methodologies.  But just because of geography, we tend to be able to patrol those areas in common sooner because we're actually closer to that pole line from our starting point.

Presumably, Hydro One is doing its own thing to find its own problem.  Generally speaking, we get to those points of concern first.

MR. GARNER:  What I was trying to pursue was whether this arrangement of joint use poles in your area was contributing to longer outage durations than might usually be the case.

And what I hear from you is the answer is yes, it does.

MR. KILFOIL:  If – to use a hypothetical example, if it hits that section of our line where we have the under build there, normally we’d get the pole changed and get Hydro One to get the overbuild repaired.  We would then restore most of our customers.

It’s just the small group of customers that we supply from that under build would have to wait for that following restoration.

MR. GARNER:  I guess what I am getting at is does it ever run like this?  So there is an outage, so Hydro One goes there.  They take a look and say that's not us, that is you.  That is on the lower end, so we’d better call you guys and then you guys run out.

Who makes the assessment on how you get there?

MR. BEHARRIELL:  It is the other way, actually.  Hydro One is the top circuit on the pole, and they're the supply line.  So it is typically us getting there first, identifying if it is a Hydro One concern that they need to come out.

MR. GARNER:  So that can happen?  You can get there and say it's not us, and then you have to call them.

MR. BEHARRIELL:  Right.  Or it could be an issue with both party's circuits, in which case Hydro One would do their work first to get the town back on, which is the majority of customers.  Our under build circuit on that pole doesn't supply the whole town.  It supplies a sub-group of customers, so that would come next.

MR. GARNER:  Did you want to jump in?
Questions by Mr. Harper:

MR. HARPER:  Can I just follow up?  When it comes to sort of looking at those instances and determining, like, in trying to do it from your own reliability reporting, you know, there's a distinction also often maybe between loss of supply, in which your problem, in terms of you're reporting on -- you're reporting your reliability statistics.

Would it be fair to say that if it is identified as a Hydro One problem, is that treated as a loss of supply, whereas if it is solely your problem it would be treated in your reliability reporting as part of the contribution to your specific reliability statistics?  Is that how the demarcation works between the two?

MR. KILFOIL:  Yes.  For example, due to one of the recent letters of comments supplied for this rate case we actually looked at a couple of the customers that were complaining about their reliability.  And that customer -- particular group -- and then one other one that happened to be living in almost the same area also wrote a letter.

There were nine different events that impacted on that customer over the preceding 15 months.  Eight of those were loss of supply -- seven of those were loss of supply, as indicated here, and two of those were us.

But the "us" part was only half an hour cumulative on our SAIDI for that individual customer.  The others obviously were multiple hours when you add them together, track them separately.

MR. HARPER:  As I was going back to Mark's question about impact on your reporting.  You get there first, but if you identify it as a Hydro One problem and it takes them longer to get there still, that longer to get there still would be going into your loss of supply reporting, as opposed to impacting your specific sort of statistics that you are measured against.

MR. KILFOIL:  Right.

MR. HARPER:  Okay.  Fine.  Thank you very much.

MR. GARNER:  Thank you, Bill.

My next one was, I think, at 2 Energy Probe 9.  I just wanted to -- and I am sure Mr. Aiken knows this, but I just want to confirm this.  This was -- you did a revision to your IT -- in-service IT for 2017, a reduction of 333,000; is that correct?

MR. VANDER VLOET:  For 2016, correct.

MR. GARNER:  Right.  And that is reflected in the update that you gave in the revenue requirement?  That's all I --


MR. VANDER VLOET:  That's correct.

MR. GARNER:  Thank you.

Oh, sorry, that one Mr. Aiken did.

Sorry, just -- I think -- oh, can I go to 2 VECC 16.  I think I know the answer, but just to talk about this.  This was the $100,000 in environmental health and safety capital costs.  You said in your response the 100,000 forecasted for those costs is for the purchase and implementation of software functionality.

Maybe it is in the wording.  Software functionality, do you just mean software, you bought $100,000 worth of software?

MR. BEHARRIELL:  It is actually modules and implementation, and I will take this opportunity to clarify that there was a miscommunication when I was putting the response together in asking the people in health and safety to give me a response.

So when they referred to the functionality for third-party contractors, that is actually in addition to the functionality that was listed in the DSP related to that amount that includes other items as well.

MR. GARNER:  Okay.  I think those are my questions.

Hold it.  It's just...  I was at, sorry, 2 Staff 15.  I guess this was the question.  I'm trying to read the question I had here.  This was when you were asked about whether you could take out some of your voltage conversion -- lower your investment in voltage conversion.

MR. BEHARRIELL:  Sorry, what question?

MR. GARNER:  I am at 2 VECC 15, and I am just trying to decipher my own question.  I am looking at the second paragraph:

"In the hypothetical event of a reduction in available investments, CNPI would be forced to reluctantly delay implementation of some of its voltage conversion, which would include some of the pole replacement."

So maybe I can ask you -- I am actually trying to figure out what I am trying to ask in this question.  I guess what I was trying to get to is if we were reducing or the Board was inclined to provide less of the capital budget than you wanted, you have this voltage conversion program which is over a five-year plan; is that right?

What would be the harm in extending that program over a longer period of time and stretching out that program?

MR. KILFOIL:  The voltage conversion program is actually a ten-year program, the first five years of which are included in the DSP and --


MR. GARNER:  Oh, right.  Thank you.

MR. KILFOIL:  We've got -- it is an integrated -- it's the result of an integrated study where we looked at things like trying to balance safety concerns and net present value and minimum bumps to rates, capital spending year over year.

But there are some things there where we're making some predictions on when some of our substation -- or delta substation assets are going to reach end of life in the substations.

We're trying to time these conversions such that we can avoid replacing in kind assets that we're going to get rid of anyways.  So by doing the program the way we're doing it allows us to phase out a substation rather than having to replace it and run an increased risk of a forced outage, so we don't want to spend an extra quarter of a million on transformers we're going to do away two years later.  We're trying to get rid of that -- we're trying to phase out that station in a timely sequence.

MR. GARNER:  Right.  And thank you, I recall that.  Now I recall about the pole thing, why I was asking about that, because it was related to this.

Your pole program, tell me how it is related to the conversion program; i.e., so many poles.  Is it part of that -- do they go in tandem, so to speak?

MR. KILFOIL:  Yes.  Well, the whole -- you know, the trigger for the voltage conversion program is dominated by safety, but part of the conversion work will involve the replacement of poles.  Separate from that we identify a need to replace a certain number of poles every year to maintain sustainability.

So we're sort of -- we had some other distribution upgrade work which will also change poles, so the target pole replacement program is to sort of top it up a little bit in order to allow us to get up to sustainability levels.

MR. GARNER:  Sorry, but does the pole conversion program include replacement of the circuit --


MR. KILFOIL:  The voltage conversion program?

MR. GARNER:  Yeah, voltage, sorry -- replace the circuit, is that part of the program to replace an entire circuit as part of that program?  Or is it just done -- is that the way the program is working?

MR. KILFOIL:  It is focussed on simply changing the voltage and changing out those poles that cannot wait until a few years down the road when we're going to get to the bad apple, shall we say.

Once -- when a pole reaches a certain condition you can't just leave it in place.  So it is a little bit of both.

MR. GARNER:  Right.  What I was trying to understand, I guess, is that you weren't going to complete your total assessment of all your poles to actually know where everything was for another five years, was it?  We said -- you said?

MR. KILFOIL:  Four more years.

MR. GARNER:  Four more years.  Thank you, four more years.

This program then -- I guess maybe the question is, is there some prematurity to this program until you have the assessment of all of the poles?

MR. KILFOIL:  We're using statistical analysis to predict the number of poles we're likely to encounter and setting the budget request accordingly.  Once we do the specific testing we will have a better answer for that.  It may turn out that we're going to have to tweak our numbers as a result of the actual results we get for each pole.

MR. GARNER:  So are you telling me that when you have a full data set of poles it could alter the conversion program in some way?

MR. KILFOIL:  More so the pole replacement program, but it could alter our -- the DSP -- it will probably alter the DSP.

MR. HAN:  I just want to give you a little bit of background information.  The area we're referring to, the voltage conversion system we are referring to, was built in the '40s, '50s, '60s, that area in general.  And some of the poles are replaced over the years one reason or the other.  Most of the poles are not.

So in the pole -- in the voltage conversion program, we need to insert another neutral, another piece of wire, on the pole.  This area, because it is a three-wire system, generally speaking, it is very short.  So when we insert this new wire, it doesn't meet today's standards, the safety standard or ESA -- CSA standard or our own standards.

So for some of those poles, we can make it work.  For some of those poles, technically it doesn't work, even if the pole itself have five or ten more years there.  You can stay there for another few years, but it doesn't work.  I have a piece of equipment there.  It doesn't meet today's standards.

So we have one of the two approach to deal with it.  When we replace it, one, the other one is to put the pole extension on it to make it work.

So we're thinking, we put a pole top extension for five years and later on we change it again, is not very cost-effective at all.

MR. BEHARRIELL:  And may not be even be possible.

MR. HAN:  Sometimes it is not possible.  So some of the poles has to be changed.

MR. GARNER:  Yes.  And that's what I was -- that's what I was thinking.  That's why I was asking the question.  I was trying to get an understanding of how the voltage conversion program and the pole replacement program tie in together.

MR. HAN:  Yes.

MR. GARNER:  I guess my question was:  To the extent that one had the assets of the poles and, you know, where you need to do conversion, one might then focus on those areas where the two collide together, so to speak.

And they may in any event because, as you say, maybe the older voltage system is in older pole systems, right?

MR. HAN:  That's exactly right.

MR. GARNER:  They go together.  So what I was trying to understand is what benefit you derive from completing the pole testing program first, and then to understand better where you should do that vis-a-vis the voltage conversion program?  Or is the voltage conversion program really doing the pole replacement program in any event?

MR. KILFOIL:  It is doing some of the pole replacement program in the areas where the conversion is required.

I should mention that in our voltage conversion effort, we sort of broke the lines in question down to three generic categories: voltage conversion where almost no poles needed to be changed, what we call refurbishment where there is a few poles that need to be changed per kilometre, and then rebuild because there’s just too many poles that don't meet spec or aren’t in good enough condition once they're converted.

MR. GARNER:  Right.  To do that, didn't you have to test all of those poles, though?

MR. HAN:  No.  The pole testing program just started in 2011, really going to the pole and testing it.  It is an industry trend.  Usually, we do not test poles in the historical period.

So it doesn't mean we do not replace poles.

MR. GARNER:  But how did you know from what you just said?

MR. HAN:  We do have some – you know, our linemen are trained linemen.  They do visual inspection.  They use a hammer to sound the pole.  And then we do have inspections.

The OEB required us to do, you know, three-year cycle inspections.  We do identify issues.  There is poles that are rotten; you can see it.  Some of the poles, we can put our hands in there.  So those are poles you know you don't need to test; you have to replace them.  In the next storm, it will come down.

So for those poles, we can say, you know, we send people out, pole by pole, doing this program, do an engineer analysis on pole condition and also on circuit configuration.

And when we identify and say this whole circuit, 80% of the poles should be changed for one reason or the other, the conductor should be changed for one reason or the other, we may just start to rebuild the whole thing.

There may be 20 percent poles in there old enough -- young enough so you don't have to replace them immediately.  But to replace them in ten years is not cost effective.

MR. GARNER:  I think I understand that.  What I was trying to get to very distinctly was, you’ve said we've categorized our voltage conversion basically by the poles we need to replace.

Ergo, it seems to me one must know what all of those poles – the shape all of those poles are in, in order to make that conclusion.  You must then therefore have tested all of those poles for those areas.  Did you or did you not do that?

MR. KILFOIL:  One thing I want to clarify, if it’s not stated in the evidence.  We did prioritize which poles we wanted to test first.  The 2016 tranche of the pole testing is going to visit all of those poles in the 2017 program.

MR. GARNER:  I see, right.

MR. KILFOIL:  And some of the '16 and the balance of the '17 testing will get to all of the stuff in our five- year plan.  So we're going into those budgetary planning years with that year's poles data in front of us.

MR. GARNER:  So what you are doing, if I can say it back to you -- and correct me, if I'm wrong -- you are going to test all of poles for voltage conversion areas prior to doing the conversion in order to decide how you are going to do the conversion, either replacement of everything, like do the whole circuit through, or as you point out, periodic pole replacement.

MR. KILFOIL:  We will use the pole test results as one of the inputs in making the prioritization.

MR. BEHARRIELL:  I want to emphasize Mr. Han’s earlier point that in some cases, if we're adding a neutral to these poles for voltage conversion purposes, regardless of how the poles test, we don't have the height to meet clearances or the pole class isn't sufficient to meet clearances and those poles in owes areas are generally 1950s, so those would have to be replaced irrespective of test results.

MR. GARNER:  Not because of condition, but because of how tall they happen to be.  Okay, I see.  And you can't add mass on those to add height to those poles.

MR. BEHARRIELL:  Any time we do significant work on a pole, we have to meet today's construction standards.

MR. GARNER:  Okay, thank you.

MS. DJURDJEVIC:  Board Staff is next on Exhibit No. 2 -- or do we want to have a break at some point?  Let's have a break, okay, let's do fifteen minutes, and come back at 11:20.
--- Recess taken at 11:05 a.m.
--- On resuming at 11:24 a.m.

MS. DJURDJEVIC:  Okay, welcome back, everyone.  I believe the next order is questions from OEB Staff.
Questions by Mr. Davies:

MR. DAVIES:  Thank you.  I will ask the first question, and then Mr. Walsh will ask the remaining questions on behalf of Staff.

And the one question I have relates to 2 Staff 46.  And that is the interrogatory about the power disruptions in the Gananoque service area.  And it just really is relating to getting an update from you, in terms of the response, where you note that CNPI had met with Hydro One technical team and discussed and developed a number of potential options, including a construction of a second supply feeder.  Hydro One had agreed to perform preliminary feasibility studies and cost estimates for these options, and is to provide a report to CNPI by November 15th, 2016.

And you then stated that following the receipt of this report CNPI would evaluate these options and make recommendations to the Town of Gananoque expected before the end of this year.

So the first question is, are you still anticipating the report from Hydro One by November 15th?

MR. HAN:  Yes, we are.

MR. DAVIES:  And assuming you get the report by the 15th and things move on the schedule you are presently anticipating, would you expect in any way that any further developments in this area would have any impact on the present application?

MR. HAN:  It depends on the recommendation.  In the evaluation, in the option-development phase with Hydro One together -- this is a meeting which happened in September 15th.  We came up three to four options for them to evaluate.  And two of the options involves rebuilding substantial lines of 44 kV line.  That is the second supply. The other, I call it one-half options, involving rebuilding the section of the line joint use with us.

So without a picture it is going to be tough for you to imagine, but the option basically to build 15 kilometres of 44 kV line, that option together to provide a second supply, the cost is in the order of anywhere between 5- to $8 million.  Each option is roughly, you know, in that magnitude.  It could be 10-.  There is a regulation station involved as well.  Those are just engineering, basic, common-sense estimate of what is involved.

To rebuild our section of line -- which will not provide a second supply to the town, but it will replacing all the old assets on those seven kilometres -- that will be -- we have some budgets to upgrade our distribution in Gananoque.

When we look at those budget items, the projects -- because that particular line section, if you are looking at only our line, serves fewer customers.  The whole line services about 500 customers.  However, if you think about the top-line serving the whole 3,500 customers, all of a sudden that section of line is more important now.

So we may -- it depends on our testing.  We already did the pole testing.  That is one thing we did.  We did the pole testing on that section, you know, right after.

Based on our testing report are being analyzed right now, and based on Hydro One's recommendation, we may say what, you know, we will move our investment, internal investment, rebuilding that seven-kilometre line if it does make sense.  And then Hydro One will install another switch sort of with certain conditions, that is once again their study will point that, to say under certain conditions or most of the conditions that we can provide a backup.

So those sort of studies are being done.  It is a fairly complicated technical study they have to perform, because there is a voltage issue there, and a capacity issue as well.  So I am waiting for that report.

Now, if the cost of the effective option is within our budget, is within our internal budget, then we think we can readjusting the five-year budget to achieve a -- to try to achieve that goal.

However, if the second circuit is recommended or insisted upon, Hydro One made it very clear they're not paying it.  So then we're talking about millions.  And then we may have to consider as a separate application, because that's not going to happen tomorrow.  It is going to be down the road a couple years.

So we will have to have a second impact because we do not own that line.  At the end of the day, even if we build that line, it is likely it is a Hydro One supply line.  So somehow we have to involve your folks, whatever that -- yeah, but the application.

MR. BEHARRIELL:  It would be a consideration on whether or not we brought that project forward, you know, as an ICM application.  At this point, without having the results from Hydro One and, you know, really knowing the cost and knowing the benefits, we wouldn't be able to say one way or another.

MR. KING:  Yeah, we would need to do a cost/benefit analysis, $8 million or $10 million on a $9 million rate base with, you know, 3,500 customers, so obviously a lot of considerations to look into.

MR. DAVIES:  So then the way you would see of proceeding, though, is this application would go forward as it is and if you, as this process moved along, realized that you needed to incur these significant additional costs, you would file a separate ICM-type application to deal with them?

MR. BEHARRIELL:  That's correct.  And that is a big "if".  You know, we -- if we needed to incur those costs, that really is a big "if".  You know, Hydro One has been quite willing to work with us, quite good about investigating options that don't provide a complete second supply to the town, but they do involve installing switches to, you know, a good portion of that 35-kilometre supply.  They do have other circuits in the area that can back it up.  There would still be a radial piece, but it would definitely reduce the exposure of the radial supply at a substantially lower cost.

MR. DAVIES:  Thank you.

MR. SHEPHERD:  Can I ask a follow up-on that?

Do I understand you to say that it is going to be a while before you really know what the possible solution is or what the optimum solution is?  It's not going to happen in the next couple of months.

MR. HAN:  The recommendation will come out at end of the year, but implementation of the recommendation could be takes a couple years.  It depends on --


MR. SHEPHERD:  No, I know.  Sorry.  I am asking -- sorry, the question I am asking is, when are you going to know which is the optimal way to solve the problem?

MR. HAN:  End of the year.

MR. SHEPHERD:  Okay.  It sounded like you have a bunch of options that you haven't even started to look at yet.

MR. HAN:  Hydro One has been looking at them right now.  There -- we have a meeting scheduled in the middle of November --


MR. SHEPHERD:  Yes.

MR. HAN:  -- to discuss those recommendations.  So discuss those options.  And Hydro One options.  We are already targeting -- Hydro One committed.  We actually have a meeting set up with them.

MR. KILFOIL:  If Hydro One meets its timetable we would expect we would be able to come up with a recommendation by the end of the year.

MR. SHEPHERD:  But then I thought I heard Glenn saying you still have to make a judgment as to whether the cost is worth the impact on reliability.

MR. BEHARRIELL:  And that is only for the one option of a completely redundant second supply.  I mean, preliminary discussions that we've had with Hydro One seem to suggest that there are other substantially lower-cost options available that will go a long way in addressing these reliability issues, and we expect those to be -- without 100 percent certainty at this point we expect those to be the options that would be implemented.

MR. SHEPHERD:  Okay, thanks.

MR. WALSH:  Thank you.
Questions by Mr. Walsh:

MR. WALSH:  Let me begin by saying, in terms of the IRs, there was a lot of good, very valuable technical information.  So I appreciate the time that you put into that.

The first question I have is Staff 22.  And if I understood correctly, the remaining delta system post-2021 will be 59 circuit kilometres.

Can you confirm how many circuit kilometres during the filing term will be replaced in Gananoque as well as Fort Erie?

MR. KILFOIL:  Well, at the time of the preparation of the DSP there was a total of 191 kilometres of delta system.  You know, when we're done there will be 59.  So the difference is how much we're going to be doing during the five years.

MR. WALSH:  And those are circuit kilometres.

MR. KILFOIL:  Circuit kilometres, yes.

MR. WALSH:  Okay.  Thank you.

MR. KILFOIL:  In some cases double circuits, so that is why we speak in terms of circuit kilometres.

MR. WALSH:  Yes, understood, thank you.  My next question is for Staff 23.  Within your response, you provided three tables essentially.

So my first question is – you’d mentioned this delayed $91,000 for O&M that was foregone, if you will, in Gananoque.

What happens to that money?  Does it get rolled over to the next year?  What happened to the -- if you didn't spend the money, what happens to the work that was otherwise going to be undertaken by that $91,000?

MR. BEHARRIELL:  So everything would have opinion pushed forward one year on the maintenance schedule.

MR. WALSH:  So it would show up in the next year's O&M budget?

MR. BEHARRIELL:  Not as an increase.  The work that would have been done in 2015 is done in 2016, 2016 is done in 2017 and so on.

MR. SHEPHERD:  Can I ask a follow up on that?  I had the same question, and if you look at page 4 of your response, you have an in addition to 2015, but you don't have a reduction of 2016.

If you are comparing apples to apples, if all you're doing is moving money, you should be reducing 2016.  I don't understand why you didn't.  You can't count it both places.

MR. BEHARRIELL:  So the 91,000, if I’m looking at this table correctly, it's getting a system O&M number for 2015 that would have been the number had we done the maintenance in 2015.  So that is why we're adding the 91,000 in 2015.

MR. SHEPHERD:  So then you are moving that from 2016 to 2015 for comparison purposes?

MR. BEHARRIELL:  And 2016 is also moving to 2017.

MR. SHEPHERD:  So 2016, I don't understand why you are not reducing 2016.  You are including that 91,000 in both places.

MR. BEHARRIELL:  No.  What the table is trying to do is it’s trying to compare what 2015 would have been had we done that maintenance to what 2016 actuals are, with the other adjustments for the purpose of comparing year over year.

MR. SHEPHERD:  So that 2016 number includes that 91,000, right?

MR. BEHARRIELL:  No.  It includes 91,000 of maintenance that was scheduled in 2016.

MR. SHEPHERD:  What about the 91,000 that was scheduled in 2015.  You were just asked when was it done.  You said it was done in 2016.

MR. BEHARRIELL:  Yes.  But not at the expense of 2016 maintenance.

MR. SHEPHERD:  So it was additional, right?

MR. BEHARRIELL:  It was not additional.  The equivalent maintenance that we would have done --


MR. BUONAGURO:  The 2016 doesn't suddenly become 180,000.  The 2016 is still 91,000.  It is just that the 91,000 that is done in 2016 is the work that would have been done in 2015, but wasn't done.  And the work that was supposed to notionally been done notionally in 2016 gets pushed back.

So the actual work -- there is no work done in 2015.  That is the gap in the OM&A.  That gap in OM&A was still labour, but that labour turned out to be capitalized because of other projects.

MR. SHEPHERD:  So you never actually did that 91,000?

MR. BEHARRIELL:  We did it in 2016.

MR. SHEPHERD:  In addition to the 2016 work?

MR. BEHARRIELL:  No.  What we had planned to do in 2016 will now be done in 2017.

MR. BUONAGURO:  The work accomplishment between 2015 and 2016 is half of what it would have been, because the work wasn't done in 2015.  That work was done in 2016, and the work that was supposed to be done in 2016 is going to be done in 2017.  The whole work schedule gets pushed back.

MR. SHEPHERD:  Then why would you make the adjustment?  It’s not a fair adjustment then.

MR. BUONAGURO:  Because the labour component that would have been done in 2016, the labour was expended, but it was expended on a particular project in 2015.

MR. HAN:  Let me go one step back for Gananoque in particular.

Gananoque has a very small work force.  They have four people working there.  And to get a contractor to go in there, there are very few contractors there as well cost effectively.  Okay?

MR. SHEPHERD:  Understood.

MR. HAN:  So in 2015, there are additional capital work required.  So we get our linemen working on those capital projects.

As a result, there is $91,000 worth of labour budgeted for distribution maintenance work that didn't get done.

MR. BEHARRIELL:  To go back to your question, I can Reduce 2016 by 91,000 to account for what you just said.  But then I would also have to add 91,000 for the 2016 work done in 2017 as opposed to 2016.  It is a sum zero.

MR. SHEPHERD:  I mean, it sounds like you just spent less money in 2015, and that's the end of it.  So then why are you making an adjustment?  I don't understand.

MR. HAN:  Because the question they asked is to say why in 2016 your budget is six percent higher than 2015.  That's the question.  That's why we provided this table.

The question to say is look at your --


MR. BEHARRIELL:  The variance.

MR. HAN:  -- variance to say your 2016 is six percent high are than 2015; why?

We said in 2015, we omit 91,000 of work.

MR. BEHARRIELL:  Of O&M.

MR. HAN:  O&M because of capital work demanding -- because of our labour arrangement in there.

MR. BEHARRIELL:  So the table is just answering the question.

MR. SHEPHERD:  Okay, thanks.

MR. WALSH:  My next question -- and we can stay on the same table.  If I understood your answer correctly to explain the $150,000, approximately 75,000 is for the pole testing program and 75 is to respond to any immediate needs that result from that pole testing.

Is this $150,000 incremental to the programs you had previously?  So in other words, you know, in 2015, you had some pole replacement and testing program, if I understand correctly.  So is the 150,000 incremental to that?

MR. HAN:  In 2015 and before, we do not have a comprehensive pole testing program.

The only time we did pole testing is in 2011 as a sampling.  So since 2011, we did not have any pole testing program.

So in 2016, when we introduced a pole testing program, it is contractor work.  So we have to pay contractors $75,000 to do the testing.

And then if anything immediately identified issues, our crew will go in to repair them.  So that is the other $75,000.

MR. KILFOIL:  And 75,000 is an estimate.  Whatever it costs is what we will actually do.  It might be 50, it might be 100.  75 is our most prudent estimate of what It is likely to be.

MR. WALSH:  Okay, thank you.

MR. SHEPHERD:  I have a follow up on that.  The 75 for testing is something you will do every year, right?  That is your plan?

MR. KILFOIL:  It will be done for -- in the next four years, yes.

MR. SHEPHERD:  Is the 75,000 for immediate pole repairs?  Are you expecting you will have that every year as well?

MR. KILFOIL:  That is our estimate.  That was included in our O&M, which is part of the revenue requirement of our ask.

MR. SHEPHERD:  No, I didn't ask whether it is going to be for 2017.

I said in subsequent years, are you expecting that each time you do testing, you will have an estimate of 75,000?

MR. KILFOIL:  Yes, yes.

MR. SHEPHERD:  So then every time you repair a pole, there is something in your regular budget for pole replacements that's going to go down, right?  You don't repair or replace the poles twice.

MR. KILFOIL:  We would expect that at some point, we would have done whatever the repairs are as they were identified.  But because we're doing this testing at this time, this particular tranche of repairs is being done earlier than typical.

So if you look at the five-year budget, chances are the gross amount spent on such short term repairs will be about the same.  But timing-wise, we're triggering it sooner because we're visiting these poles and looking at them, and creating specific deficiencies that must now be addressed.

MR. SHEPHERD:  Thank you.

MR. WALSH:  In the line item on this same table, the missed meter of 44,000 is incremental operating costs.  Can you just shed some light on what that means?

MR. BEHARRIELL:  So the 44,000 would be increased costs related to communication for these meters, as well as settlement processes as well.

MR. WALSH:  So it is an incremental back office?

MR. BEHARRIELL:  That's correct, yes.

MR. WALSH:  Thank you.  If we can go to the next table and the same question, again the three line items that you have here, my overall question for each of these three is to confirm that these are incremental costs.

MR. BEHARRIELL:  Yes.  And that's true in the case of all three items.

MR. WALSH:  So my follow up question to that is -- there is incremental costs, so naturally I would expect that there would be an incremental benefit.  Are you measuring that benefit -- you know, how to justify the extra costs without some benefit.

MR. HAN:  Over the years there's additional requests from different stakeholders to either collect more information, do more formal reporting, and introducing more programs.  Those costs, we do not have additional manpower to work on those additional work.

We do not -- first, we do not have a formal process to track the cost savings, because virtually you are asking me to do two sets of design or two sets of work.  I am not doing that.

However, we do believe we have some savings, because we use the same manpower level, a combination of a lot of requirement over the last five years or four years, without increased staff level.

MR. WALSH:  Okay.

MR. HAN:  Does that make sense?

MR. WALSH:  Yes, thank you.

Let me just quote from the same question -- in here -- let me just read the quote.  It said that 2 percent inflation is a reasonable balance between inflationary pressures and the offsetting nature of productivity improvements and additional cost drivers.

Is there somewhere in your, either in the DSP or in the filing, where you have your inflation assumption?

MR. BEHARRIELL:  I will have to find that reference, but I believe it is somewhere in Exhibit 1.

MR. WALSH:  Do you know what it is offhand?

MR. BEHARRIELL:  I will have to look for that to find that reference for you.

MR. WALSH:  I guess the question is, if it is different than 2 percent, then I guess the question is, then is there any productivity that's bringing that number down?

I am imagining that inflation goes up, productivity pushes it down, and consequently this 2 percent number would be below the inflationary number, but I am just trying to seek clarification on that.

MR. BEHARRIELL:  So we do have productivity improvements.  We will also have cost drivers that are in excess of inflation.  So our assumption 2018 forward is that 2 percent is a reasonable balance between those two items.

MR. WALSH:  Okay.  Thank you.

MR. SHEPHERD:  So I have a follow-up on that as well.  I had the same thing.  It looks like it is zero productivity, right?  The net of the additional cost drivers and the productivity benefits is zero.

MR. BEHARRIELL:  That's what we have assumed for the purpose of presenting O&M costs 2018 forward, yes.

MR. SHEPHERD:  But then you have things like these additional programs that you are saying are additional cost drivers.  And they're not offset by productivity benefits, right?  You have a list of additional cost drivers that you are saying are pushing your costs up and you are adding those.

MR. BEHARRIELL:  Yes, we are.

MR. SHEPHERD:  But I thought you said they are offset by productivity improvements.

MR. BEHARRIELL:  That is our forecast for 2018 forward.

MR. SHEPHERD:  Okay.  So 2016 and 2017, that is not true?

MR. BEHARRIELL:  For 2016 and 2017 we have identified additional programs, such as the emerald ash borer, missed metering, et cetera, pole testing, that are additional cost drivers for various reasons that are not offset by productivity improvements.

MR. SHEPHERD:  Okay, thanks.

MR. WALSH:  I just have a clarifying question.  On the emerald ash borer program, how many years do you expect that is to last, and does it dissipate over -- are the costs higher in the initial years?  Or is it sort of a five years and -- what does the anticipated spend on addressing that issue look like?

MR. HAN:  We hired a consultant.  They did a study on that.  And my understanding is, once a tree is infected, it is predicted in three years the tree will be dead.  But whether the tree owner decides to remove the tree or not is up to the tree owner.  That's one piece of information.

The other piece of information, there is a projection of the next seven years -- seven to eight years most of the trees in the Niagara region will be dead, in the -- you know, emerald ash tree will be dead.

So we're thinking it is a prudent -- we don't really know.  This is a new program.  We really don't know what it is going to cost us if we go into this field at the end of the day.  But we feel it is providing the tree owner a safety working zone for them to remove tree or improve public safety, because this is not a one-person or two-persons issue.  This is a system-wide issue.  It is similar to underground locates.  We do not charge people for underground locates, but this is a safety issue.  If we charge them, they may not report.  They may not ask.  So this is a similar thing.

We provide any assistance we can.  We are not in the tree-removing business.  We do not remove trees for the customer.  We just provide a safety zone, our line, if it is close enough to our line, so that we can allow the customer to remove the tree safely.

MR. WALSH:  Can you just clarify, when you say "safety zone", does that mean -- what does that mean?

MR. HAN:  For example, if the tree is ten feet or 15 feet away from our line, and they decide to cut the tree down, and if they say, well, we need to have some protection on your line, it is a live line, too close.

So we may either cutting on -- there are different methodologies, cutting a switch, take a section out, or rubber it up, or do whatever, to make the worker working in that zone safe, you know.

In our own people, if we cut the tree, we have to do the same thing.  And normally, if a customer come to me to say, I want to do something on my house around my tree, I say, You've got to pay for it.  You know, you've got to pay me to prepare that for safe for you on individual basis, but we think this is a system-wide system -- problem.  So provide a program systematically will assist and will encourage customers to do that.

Now, the consequence is, if we don't, if the customer does not remove those trees voluntarily, the tree will fall one way or the other, eventually.  So there's -- you know, if I use a simple process, a 25 percent is the going chance that it is going to falling towards the road or towards our line.  So as a result you're going to have a public safety issue, and the pole would be on the ground or something and it will happen.

Of course, there is a 25 percent chance it will fall towards his house.  In his yard too.  So -- or the other 12 -- 50 percent is on the sidewalk.

So what we're talking about is really is to provide encouragement for the customer to go to remove the trees, the dead trees.

MR. WALSH:  Thank you.

MR. SHEPHERD:  I have a follow-up on that.  Would you prefer if I leave my follow-ups 'til later?

MR. WALSH:  No, no.  This is...

MR. SHEPHERD:  Thank you.

You said you had done a study.  That's already finished, right?  That was this year?

MR. HAN:  Yes.  I think --


MR. KILFOIL:  It is Exhibit M in the application plan --


MR. HAN:  I think it is 2013 or '14.

MR. SHEPHERD:  Okay.  So that is already spent.  That money is already spent.

MR. HAN:  Yes.

MR. SHEPHERD:  All right.  Then is that the risk assessment that you are talking about in your mitigation strategies?  Or is there something different that you are doing?

MR. BEHARRIELL:  It is the 2016 EAB impact assessment that was filed as Appendix M to the...

MR. SHEPHERD:  That risk assessment is done and it's already paid for?

MR. BEHARRIELL:  Yes.

MR. SHEPHERD:  So then the hundred --


MR. BEHARRIELL:  I will correct that.  It is done for the Port Colborne portion of our service area, and we would have to continue on with further risk assessment in Fort Erie and Gananoque as well as the program progresses.

MR. SHEPHERD:  So the 100,000 is not for the risk assessment, right?  It is not for the study.  It is for something else.

MR. HAN:  Yes.

MR. SHEPHERD:  And it is for, you're saying customer communications?

MR. HAN:  No.  It is really, if a customer have -- like, a customer has a tree dead in the front yard, it is 15 feet away, it is a 35-foot tree and it is dead, it is in his yard 15 feet away from a line, and the customer is saying, We're going to hire somebody to cut it, but they're going to contact us, because if the line failed or people working nearby, and they could get a safety concern.  You could hurt them.

MR. SHEPHERD:  I understand that part.

MR. HAN:  So what we will do is that 100,000 is to spend some money to make that line safe for the worker who work to remove that tree.

MR. SHEPHERD:  All right.  Thanks.

MR. WALSH:  Thank you.

Let me move to my next question, which is -- this is IR 24.  Again, you provided a table with the average cost, depending on the program you followed to replace.  Yes, that is this table.

Can you shed some light on how you calculated these costs?  And did you simply take the program expenditure and divide by the number of poles you anticipate to replace in each of these categories, or is there more -- is there a bottom-up approach?

MR. KILFOIL:  We actually looked at the last couple of years of actual work completed and just did some analysis and broke it down on to a per structure basis.  Then we made some predictions about how many of the -- you know, if this pole should fail as a reactionary thing, some of the time it is going to involve a call out, some of the time we're going to have crew already working during regular working hours, so, you know, 40 hours out of 192 it's not an overtime call as such.  The rest of the hours it is.

So the reactionary cost took into account those extra labour costs and also some -- sometimes we do short-term repairs in the middle of the night and come back the next morning, and so we factored all that stuff in to figure out what is a representative cost on a per unit basis to react to a pole change, as opposed to a given pole on a one -- on a plan basis.

But then we also looked at some of our jobs and programs where we've changed entire lines, 500 metres here and a kilometre there, to figure out what is the cost when you can do it as part of a larger project where your economies of scale start to kick in, and that is why we have got the three different prices.  One is the -- two of them are individual poles, whether they’re done planned or done reactionary.  The last one is when we can do them as part of a broader program.

MR. WALSH:  Okay, thank you.

My next question is for Staff 25.  There is a listing in your answer, and you listed -- the question was to quantify some of the O&M savings and the tracking of the programs.

And the question is to clarify whether, on these specific programs, there are measurable and material cost saving benefits.

Let me rephrase the question.  Are the cost saving benefits measurable and material?

MR. KILFOIL:  In some cases, they're not necessarily resulting in cost savings.  They're trying to head off otherwise cost increases.

As we have already spoken to, we've got a lot of upward pressures on our staff to, you know, do things differently than before, do more reporting.  We now have to do long linear analysis when we are planning pole replacements; we didn't have to before.

So in some cases, we're spending money just to maintain the staffing levels.  So it is not so much cost reduction as avoidance of cost increases in many of these cases.

MR. WALSH:  Okay, thank you.  Next question is for Staff 28, and just a clarification on the language that is used in here.

On one of the feeders, you used the term "least performant".  I wanted to confirm that if I was to interpret that to mean worse performing, is that accurate?

MR. KILFOIL:  Yes, or one resulting in a higher indices for SAIDI and SAIFI.

MR. WALSH:  Okay, thank you.  My next question is for Staff 38.  Let me just read to you my interpretation of your answer, and you can clarify whether or not it is accurate.

Some of the individual projects making up these amounts are non-material level expenditures.  It would appear that CNPI is using a budget envelope approach, presumably using historical numbers, rather than a bottom-up forecast to come up with these budgetary items.

Would that be an accurate statement?

MR. HAN:  In our budget process on the distribution system level is in the near term, in the next one to two years, we do have projects identified.  But over two years period and beyond, it is often difficult to identify small projects, and sometimes larger projects because the events happen during those time periods.

So our approach in our planning, because this is a five-year requirement, the first two years -- if you look at the numbers, in the first two years the numbers are low because we already have larger projects identified.  But then later on, the projects not identified get bigger, are more and more.  So the money we put in here is a little bit more for future years.

MR. KILFOIL:  They're based on historical -- like, we don't know for sure what we’re going to need to spend in 2020.  But based on what we know, we already had to do in 4, '13, and years before, we know that between now and then, we are going to identify projects of about that magnitude based on what has always happened.

MR. WALSH:  Thank you.  Similar question, but for Staff 39.

MR. KILFOIL:  Different service territory; basically the same response.

MR. WALSH:  And the specific question is:  In reading your answer, I interpreted that post-2019 as your resources, as your internal resources are freed-up from working on the delta-wide conversion that they will then be allocated to internal projects that I presume haven't been identified, given the time frame looking into the future?

MR. HAN:  A little bit of this question is -- in the nature of this type of project is asset replacement.  We know we have so much assets that, statistically speaking, has reached or near end of the life.  You know, this is statistically speaking; not individual assets, but in general speaking.

So we have to budget sufficient money to anticipate those replacements.  But when the time comes, we will do further assessment of which piece we’re going to deal with in the future years.

MR. KILFOIL:  We do expect the pole testing underway, the multi-year project, will inform us as to what areas we need to focus on in those future years.

MR. WALSH:  Thank you.  My next question is for Staff 49.  In this IR, we had asked whether you performed a cost benefit analysis.  So actually the question is: did you perform a cost benefit analysis and, if so, is that available?

MR. HAN:  This is for the step down transformer.

MR. WALSH:  Specifically the Kingston Mills.

MR. HAN:  The Kingston mills in particular is -- the Kingston Mills substation was owned by an affiliate company of CNPI, a sister company before, and it was sold, the substation was sold and it is a generating plant.

We have a transformer located inside that plant.  That asset is very, very old, and the owner of the -- the new owner of the substation and also the generating assets, that particular transformer is located in the owner's transformer station.

They tell us you need to do something about your old transformers; it is not safe.  There is issues on working, because now we're two separate owners now.

So we either rebuild it on site, which is impossible as there is no land, or we relocate it out of the site.

Now, when we relocate it out of the site for a transformer anywhere you purchase land you try to do that it will be more expensive than a step-down transformer.

We did not do a formal analysis, but the engineering experience we had clearly indicated in this case a step-down transformer is a better option.

MR. KILFOIL:  We had just completed the conversion of three other stations to both operation banks. We had pretty good numbers for those costs and it was a fairly straightforward evaluation of the only two possible tactical solutions as to which one was superior.

MR. WALSH:  Okay, thank you.

MR. SHEPHERD:  Can I follow up?  I didn't realize this was owned by an affiliate.

MR. HAN:  No.  It is owned by -- this whole hydro station near Gananoque was owned by Fortis BC, which is a sister company for us.

MR. SHEPHERD:  Sorry, the generating facility was?

MR. HAN:  The generating facility.  But in this particular case, this transformer is located on their property, in the same substation.

We used to be same family, so we can work together.

MR. SHEPHERD:  I am trying to understand.  Your affiliate, Fortis BC, sold the generating facility.  But the transformer has always been yours, right?

MR. HAN:  Yes.

MR. SHEPHERD:  And originally, like before you bought Eastern Ontario Power, it was owned by Eastern Ontario Power, right?

MR. KILFOIL:  It was owned by Granite Power.

MR. SHEPHERD:  Granite Power, yes.  So the fact you had this old station, you knew this all along.  It was going to have to be replaced at some point no matter who owned it, right?

MR. HAN:  Right.

MR. SHEPHERD:  And it was always going to be your cost, wasn't it?

MR. HAN:  The cost -- when we sold the substation, there are three transformers in the substation, two of the transformers in the same area, geographic area, two of the transformers is used as a step-up transformer for the generator.  It is clearly owned by them.  We don't own them.

But one is used as a distribution to supply our load.  So that particular transformer is owned by EOP.

MR. SHEPHERD:  Was this generating station owned by Granite?

MR. KILFOIL:  Yes.

MR. SHEPHERD:  So when Granite sold, it sold the generating station and a couple of the transformers to Fortis BC, and it sold the distribution facilities and the distribution transformer to EOP.  Is that right?

MR. KILFOIL:  We subsequently rearranged that, because the generating plants couldn't be owned by a LDC.  So it was given -- it was passed off to an affiliate as a result.

MR. SHEPHERD:  Are the details of that transaction in the record anywhere, or on the record somewhere?  Can we go take a look at it?

MR. KING:  Sorry, can you say that again, Jay?

MR. SHEPHERD:  Those transactions, those purchase and sale transactions and the internal arrangement, is that somewhere on the record -- not necessarily in this proceeding, obviously not, but is there somewhere I can go take a look at that?

MR. KING:  I'm not sure -- absolutely, so there is MAAD applications when there was transfers of the assets.  So those assets, we had acquired both the distribution company and the generating company from the Campbell family back in 2003, and we had operated those for a while.  And then those assets were actually transferred to another company within the Fortis group called Fortis Properties.  There would have been a transfer, because there would have been a licence obtained by Fortis Properties to do that.  And then they were eventually transferred to Fortis B.C., and then they were sold from Fortis B.C. to Energy Hydro --


MR. SHEPHERD:  So that whole --


MR. KING:  -- Ottawa.

MR. SHEPHERD:  -- that whole package of assets was owned by EOP.

MR. HAN:  Used to be at the very, very beginning.

MR. SHEPHERD:  No.  EOP, when -- that is, when -- EOP was a Fortis company.  It owned the generator and all the transformers.  Right?  At some point, and operated them.

MR. KING:  Yeah, well, I'm not sure.  There was two companies.  There was a generation company and there was a distribution company.  When we acquired it there was two companies.

MR. SHEPHERD:  Were these transformers valued separately at the time?

MR. KING:  Were they valued separately at the time?  I would never be able to confirm that, you know.  The records were suspect at best.

MR. SHEPHERD:  I'm not talking -- what I am trying to figure out is whether the distribution company ended up with an asset that was in really bad shape and --


MR. KING:  Some assets in bad shape, for sure.

MR. SHEPHERD:  Is it possible for you to let us know where we could find that stuff?  Is there a reference you could direct us to that we could find that paperwork?

MR. KING:  We can do a search at the -- certainly on MAAD applications.  I don't think you will ever get as granular as you are hoping to get, but we can certainly undertake to see what is on the record.

MR. SHEPHERD:  Okay, thank you.

MS. DJURDJEVIC:  That will be Undertaking JTC1.3, and could we just restate it so it is clear on the record?

MR. SHEPHERD:  I am asking where we would find, in the public record, the details on the transaction that resulted in EOP ending up with this station that needs to be replaced.


MR. BUONAGURO:  Jay, does it help on the first page of that interrogatory, the Kingston Mills DS is listed as being built in 1956?  We're talking about a 60-year-old asset.

MR. SHEPHERD:  Yeah, this is about the relative valuation of the components of the package.  It is not about the overall -- is it old?  Yes.  We agree.

MR. BUONAGURO:  You're talking about replacing that particular asset because it is in poor condition.

MR. SHEPHERD:  Yes.  And I'm wondering whether the ratepayers should have the responsibility to pay for it, given the terms of the original transaction.  I don't know.  I would just like to look.

MR. KING:  There was, Jay, and -- there was, when the eventual sale to Hydro Ottawa, or Ottawa, whatever the generation company is, there was a capital contribution made from that -- proceeds of that sale towards this.

MR. SHEPHERD:  Oh, really?

MR. KING:  Yes.

MR. SHEPHERD:  Okay.  Do we know how much it was?

MR. KING:  Well, that's what I'm just trying to confirm.

MR. HAN:  I know that.  It was 150,000.  So what happened is I know it's going -- you know, this thing is going to be there and it is going to be there for a while.  It is going to be very difficult for me to rebuild that thing, and it is in a very small compound with three transformers, very crowded, it's not very safe.

The guy want us to say we cannot work together.  We're at arm's length now.  We cannot work together on this little thing, this safety issue, Get out, this is my property now.  I say, Fine, I will get out.  Show me your money.  So they showed me --


MR. SHEPHERD:  Is this word-for-word the conversation?

MR. HAN:  No.  Sorry, I'm just an engineer, okay?  So I did -- I did tell him, Show me your money.  So is how much, so we did a calculation, and I said 150, and they paid me.

MR. KING:  So certainly when the transaction transpired we said there's some costs we're going to incur, so we asked for some proceeds, and that is what we got.

MR. SHEPHERD:  And is that accounted for in your forecast of the cost?

MR. HAN:  The contribution is in the 2016 budget.

MR. SHEPHERD:  Awesome.  Okay, thank you.  I don't need the undertaking then.

MS. DJURDJEVIC:  So that -- you don't need Undertaking JTC1.3?

MR. SHEPHERD:  No.

MR. WALSH:  Let me move on to my next question, which is related to Staff 50.  And if I have understood this correctly, I think this is the 2011 testing program.  So there is a graph at the end of this question that shows the anticipated replacements over the next five years, ten years, right out --


MR. KILFOIL:  Which was in the 2011 version of our asset management program.

MR. WALSH:  The 2011.

MR. KILFOIL:  Yeah, that is not new evidence.  It was --


MR. WALSH:  No, this is -- yeah, I am just trying to reconcile what I understand this information is telling us versus the new program.  Because the new program, you are estimating to replace, if I understand correctly, about 440 poles a year?

MR. KILFOIL:  On average.

MR. WALSH:  On average?  Versus, if you look at what was told in 2011, if you look out the next five years or the five- and the ten-year, it seems to be a lower number.  And I just wanted to get your comments on that.

MR. KILFOIL:  Well, the methodology that Dr. -- I am going to murder his name here -- Dr. -- excuse me -- Krishnasamy -- Sammy, everyone calls him -- it is very -- it's very sort of -- I will call it front-end-loaded.  It is pretty good at identifying poles that are in bad shape or going to be in bad shape really soon.  It is not a terribly good predictor when you get into that six to 25 band of likely remaining lives, so we don't really rely on -- the data from five years ago that said that pole should be changed in year seven is a poor predictor of what should now be in year two, five years later.  It is pretty good on the front end, but it's not so good in the middle.

MR. BEHARRIELL:  That is part of the reasoning for pole testing in the industry as a whole.  It gets repeated on certain cycle lengths because just the nature of pole failure, the wood fibres rot not at a linear rate, you know, over the age of the pole.  It tends to start rotting and then exponentially get worse.

So we can take the short-term results from that with some certainty and we can take long-term expectations of pole life, but the stuff in the middle we do need to to retest on a regular basis to confirm those results.

MR. KILFOIL:  It is to be -- it is a little bit like evaluating the health and likely longevity of a person.  Once they're already sick you can make a pretty good prediction about their next five years, but if they're not sick yet, if they're otherwise healthy, trying to figure out, you know, is it ten or 15, it's kind of a -- not very accurate.

MR. WALSH:  Okay.  Thank you.

And -- but just along the same lines, over the last -- you know, the industry has been doing this for a while.  Is it not getting better at predicting that, you know, seven-plus year?

MR. KILFOIL:  It is somewhat the nature of the beast.  I mean, you know, we've got all kinds of survivor mentality curves and studies have been -- there's ongoing studies that try to predict this, but, you know, other than, you know, other than putting into population pools and -- you know, we know that the pole's probably going to live 45 or 50 years on average, but trying to pinpoint for a given pole, when are you going to go, it is not really subject to that kind of quantitization (sic).

MR. WALSH:  Okay, thank you.

My next question is for Staff 56.  Let me just read out my question.  It is a three-part question.  You can answer as you see fit.

So the first part, it has to do with the relocating of the line.  Is it possible that relocating the line to the highway may expose the line to more traffic-related outages?

Part 2 of that is, have you done a cost/benefit analysis that weighs the risk of traffic-related outages against the costs -- the current off-highway maintenance costs?

And Part 3 of that, is there a potential cash value of releasing the right-of-way for the off-highway, the current off-highway routing?

MR. KILFOIL:  Well, to answer the first question, the -- by relocating the pole line nearer the road, yes, it does likely increase the chance of a highway accident, but there is trade-offs in terms of reduced likelihood of vegetation problems, because now you are on one side of the road and the road eliminates half the trees.  So there is offsets on that side of things.

What you're --


MR. HAN:  Just one item on that is once the pole is near the highway road, is once you have a problem, we can't go to fix it effectively quickly.  However, the poles offside the road is not hit by a car, but when they have got a problem, a pole fire or something, it will take a lot longer to fix them.

MR. WALSH:  If it's next to the highway --


MR. HAN:  If it is next to the highway – you know, there’s different type of highways.  But if it is next to a road, our policy, our philosophy in distribution construction is try to build a line along a municipal right-of-way.  That is our philosophy.  We try not to build a line on purpose off-road.

If I have a choice of building a line and one is near to the road and the other one is 50 feet away from the road, most times I will choose the option to build the line near the road.

The very simple reason is the construction cost is lower, the maintenance cost is lower, and when we have an outage, the response time is shorter.

So those are the main reasons for us to go, to relocate a line.  If we have the opportunity, we will relocate the line near the road. However, it is not always possible.

MR. KILFOIL:  In urban situations, we're in the process of trying to eliminate as much as possible rear lot construction to road front construction for much the same reason.  Sorry, what was the second part of the three?

MR. WALSH:  The second part – you just the named the benefits of being closer to the road versus not.  Do you quantify that when you are looking at -- or is it just that experience tells you this is better?

MR. HAN:  It is by experience.  Off road construction, another issue with off road construction today is easement.  It is awfully difficult today to get easement.

The old line was there simply because fifty years ago or sixty years ago, the rule was not very restrictive.  The farmer wants a line, we just build the line.  We cross your line and cross your land, no problem.

Today, if you want to build a line, other than relying on the Electricity Act to say we're already there, we still stay there, there is no way to build a new line to cross a new right-of-way.  Nobody will give you the right-of-way.

MR. WALSH:  Which segues nicely into the third part.  Is there value at releasing right-of-way?  Is there value at releasing the right-of-way for where the line currently runs off road?

MR. HAN:  Well, usually, if a customer comes to -- if we relocate the line out of the right-of-way, the customer comes to us to say we want that right-of-way.  First of all, we need to see whether we have easement in the first place.

If we don't have easement, when we relocate the line we're done.  The right-of-way is gone.  If we do have easement, from time to time the customer will come to us and require the release of the right-of-way.  We do not, generally speaking, go to the customer and say I'm going to release the right-of-way for you.

Usually, the customer comes to us.  When they come to us, we will re-evaluate whether the right-of-way -- there's potential to reuse the right-of-way.

If there is no potential to reuse the right-of-way, we will give it up.  If there is a potential to reuse the right-of-way, we will say no.

MR. KILFOIL:  For much of the length of this line, there is no registered easement covering our right to be there.  We're there using different rights. So there is nothing to release or sell.

Once we stop using the line, our right to stay there reverts anyway.



MR. WALSH:  And there is no ongoing cost to maintain your easements or your rights?

MR. BEHARRIELL:  No, there wouldn't be.

MR. WALSH:  Thank you.  That is my -- that is all I have for the question.

MR. SHEPHERD:  Okay.  I have a few questions on this, but first let me start with understanding this delta to Y conversion program.

Just looking back at your previous applications, you have been doing this a long time, right?

MR. HAN:  Yes, we do.

MR. SHEPHERD:  I am looking and I’m seeing in 2007, there’s spending -- obviously that is not the start.  It is way prior to that.

MR. HAN:  Yes.

MR. SHEPHERD:  And I guess, is there a point where this is done?

MR. HAN:  I'm hoping in ten years we're done.

MR. BEHARRIELL:  I think we already answered that the bulk of it is done in the next five years.  That is presented in our DSP, that is presented in our interrogatory responses.

MR. SHEPHERD:  Right.  Okay.  So my first question is one last item on 2 Staff 23, because we haven't beaten that answer to death enough.

And that is these two expenses on page 5 of the answer for load dispatching and GIS maintenance, you are presenting those as incremental cost.  But I thought you were actually spending the money to save money.  Isn't that right, or am I misunderstanding?

MR. KILFOIL:  The GIS system was implemented because there's so many programs and things and pressures that without a GIS system, there is no effective way to do some of the triple R reporting, and there is no effective way to do much our planning, technical analysis and so on.

So again, it is to allow us to avoid the head count to continue on with our manual methods while doing all of these other new things that are putting upward pressure on us.

So the GIS was not implemented to save money.  The GIS was implemented because it was necessary to have a system like that to get our work done.

MR. SHEPHERD:  But you do describe in your application and some of your responses all of the savings you are going to get from GIS, right?

MR. BEHARRIELL:  And we also describe -- so we described savings from GIS, and then we also described cost pressures in terms of -- for the same department, non-linear design requirements coming out of changes to CSA settlement agreement standards, a habitat stewardship program related to changes in environmental legislation.

So there are benefits from implementing this GIS solution, but we're not reducing staff.  So we are not having actual cost savings as a reduction in staff.  We're using that same staff to meet those other requirements, non-linear design, habitat stewardship, to do those programs without adding additional staff.

MR. SHEPHERD:  So the additional benefits of the GIS costs are, like, you have additional costs for GIS.

MR. BEHARRIELL:  Yes.

MR. SHEPHERD:  And those additional costs, what the ratepayers are getting for them are what?

MR. HAN:  Maybe for example the environmental stewardship program, without a GIS program, we need to hire another person to do that, because that involves going to the field to find -- every time we go to the field, where to go.  We have to check if out.

Because every time today, if we put a pole on non-municipal right-of-way, we need to check with our environmental department to find out – actually to check with the Ministry of Natural Resource to say where we're going to put this pole, whether it will have a environmental impact to the birds or species at risk.  The first question they ask is where is that.

So without a GIS system, we have to produce a separate map and that is a very time-consuming.

MR. SHEPHERD:  I see, okay.  So it automates compliance with that --


MR. HAN:  Exactly.

MR. SHEPHERD:  But that is not the reason why you built it.

MR. HAN:  No.  It in is one of the reasons we built it.

MR. BEHARRIELL:  The MNR provides us with a map with sensitive environmental areas with areas of concern for species at risk.  We overlay that with our planning process and say we're good to go in this area, or we need some further study before we put the pole here, but maybe we can put it on the other side of the road and avoid that.

MR. SHEPHERD:  It saves you money, but it saves you money relative to --


MR. HAN:  If I don't have it.

MR. SHEPHERD:  Complying with species at risk, when did that come in?

MR. HAN:  '13 or '14.  But there is a process.  The law was introduced earlier, but then it takes time for the -- they prepare their system.  They have to have a map.  And then usually we have to sign a NDA with them.  But they told us this is the way to go.  This is coming, and you have to do it.

MR. BEHARRIELL:  So the MNR has come in and met with us regarding regulations or changes to their processes under species at risk legislation and what their expectation is of us.

MR. SHEPHERD:  All right.  Then what about the load dispatching?  Your staff are assuming on-call duties on a full-time basis.  What are the customers getting for that?

MR. HAN:  Right now, the calls coming to a -- we have and on-call service off hours.  But that service have a limited capacity, and they are a general on-call provider.  They are not specialized in this particular area.

So because of this, customer communication, particularly during an outage, is an issue.

There is a company sort of specialized in utility operation and they provide this on-call program, this utility assist company.  They provide this on-call program for 24-7 and they're providing 1,000 lines, phone lines.

Also these people are trained, professionally trained to answer some system-related questions. And also we gave our -- certain of our database to them for them to answer certain questions.

MR. SHEPHERD:  So what the customers are getting for this additional 65,000 is that when there are outages, they get better information faster?

MR. KILFOIL:  In addition to that -- load dispatching is a bit of a misnomer; it’s just a historical name for it.  It is really our control room operations.

MR. SHEPHERD:  Yes.

MR. KILFOIL:  Up until recently much of that after-hours response was handled by a person on likely management, a person like myself.  And we don't get paid overtime to do these after-hours response control-room operations, but that role, because it is really -- it is shifting to a represented position's coverage, and those folks in the union have to be paid overtime for that function.  That's really --


MR. SHEPHERD:  I am asking what are the customers getting for it.  I understand that you don't have to work at two o'clock in the morning, and that's good.  But --


MR. BEHARRIELL:  So the customer -- sorry, there is a customer benefit and there is a worker benefit.  There is a worker benefit in terms of worker safety by having that qualified operator in the control room directing their work activities, and, you know, rather than a management person that is not as familiar with the SCADA system, with the outage management system.

So the customer benefit goes into, you know, with our outage management system and our new after-hours provider, that operator now, you know, rather than just doing very basic-level functions, is able to process these outages in our outage management system.  The on-call provider therefore gets better information on the extent of the outage, the nature of the outage, estimated restoration times, so that as the calls ramp up, as they get more calls coming in, they can proactively say to a customer calling in, I see you are part of this outage.  The outage has been going on for an hour now.  We have crews out.  We expect it to be restored in about two hours.  So they're getting a much better service.

MR. SHEPHERD:  Does that mean that you're going to restore outages faster because of this?

MR. BEHARRIELL:  It could be in the case of having the experience, operators in the control room, it could result in some improved restoration times.  I expect the benefit would be somewhat marginal, you know, in terms of them doing remote switching, being more familiar with it than a management person that is on-call once every, you know, four or five weeks and that isn't the primary nature of their job.  So there is a marginal benefit there, but --


MR. SHEPHERD:  Is there also a benefit in costs?  Is it going to cost you less to deal with these outages because you have an experienced person in the room?

MR. HAN:  It should.  The new OMS outage restoration system was introduced in 2015 fully, and that system requires additional training, and that system requires additional experience to operate.

So the operator is familiar with those systems.  But the management do not.

MR. BEHARRIELL:  So one concrete example I can give you of a possible cost savings scenario is, you know, a customer calls in middle of the night.  The call centre gets it.  They see that they're not part of some other, you know, big outage, it just really appears to be a one-off.  This call centre with our OMS now, and they have access to our EMI system as well, can peek at the meter, say to the customer, Look, your meter is showing power.  Try your main breaker, try a few other things.  It is an issue on your end.  We can avoid the truck roll.

MR. SHEPHERD:  Okay.  So have you looked at what these cost savings are?  Have you tried to identify how much you are going to save because of these things?

MR. BEHARRIELL:  We don't really have a good history on, you know, how many after-hours outages would avoid a truck roll.  So it's -- you know, I gave you that hypothetical example.  As we get into this, you know, we can start quantifying that and have some history to --


MR. SHEPHERD:  There is no dollars in your budget for --


MR. BEHARRIELL:  No.

MR. SHEPHERD:  -- those savings?

MR. HAN:  No, before -- okay.

MR. SHEPHERD:  Thanks.

Then I wanted to turn to 2 Staff 25.  And Board Staff quoted your comment that you've undertaken many procedural and policy improvements to improve efficiency and -- et cetera that result in cost savings.

So I want to look at your response (c), and you have a bunch of examples of upward pressure on costs, but I didn't see you identifying where the savings are coming from.

It appears that what you're saying is that it's going to cost you just as much as before, but you are going to be able to do more.

MR. BEHARRIELL:  We're going to be able to meet those increased cost drivers without adding staff as a result of, you know, a sum total of these marginal cost-efficiency improvements, you know -- none of those items on their own reduce a whole FTE.  But they may make a task that previously took an hour, say, take 50, 55 minutes, and over the course of a month that adds up, and these other cost pressures are taking that same task that would have taken an hour and making it take, you know, hour and ten minutes, an hour and 15 minutes, so the two are offsetting.

MR. SHEPHERD:  So from the customer's point of view they're spending more money and they're not getting anything more, but the reason they're not getting anything more is because of government or regulatory policy decisions that are requiring you to do more.

So the customers are getting something more from a policy point of view but not from a distribution point of view; is that fair?

MR. BEHARRIELL:  That's correct, yes.

MR. SHEPHERD:  My next question is on 2 Staff 28.  We talked a little bit about this already.  You have talked about the fact that your GIS gives you better information and your new outage management system is drawing on the capabilities of the GIS, right?

MR. BEHARRIELL:  Yes.

MR. SHEPHERD:  So there is going to be a bunch of savings there, but you haven't costed any of those yet.  You don't know what those savings are going to be?

MR. BEHARRIELL:  Correct, yes.

MR. SHEPHERD:  The outage prediction functionality, are you doing that yet?  Are you predicting outages yet?

MR. KILFOIL:  We're not predicting outages.  Once an outage occurs we're predicting the extent of the outage and how to respond to it.  It is a triaging (sic) tool.  It doesn't guess when an outage is going to happen sometime in the future.  It makes for much more rapid identification of the extent of any given outage, so --


MR. HAN:  Here is how it works, just a simplified answer.  I have got one call on an operator.  I have one call.  You called me and say you have no power.  I know where you are on my map.  Okay.  This is my GIS.  Okay.  You're there.  And then I am going to send a truck to you.  But where?  It can be your house, the device above you, or device above that.

Now, meanwhile I am sending a truck to you, I get another call, and he is calling -- your neighbour call, so I look at you and your neighbour, oh, both of you are sending -- supplied from the same transformer.  Potentially it is a transformer problem.

And then the third the customer call is a different transformer.

MR. KILFOIL:  But same street.

MR. HAN:  On the same street.  Now it is a line problem.

So I can save the outage time by sending my crew to the problem now.  It is not 100 percent right.

MR. SHEPHERD:  Now, part of this -- and I take it this is not the same system, but it is a related system, is you now know where all your vehicles are too, right?

MR. HAN:  Oh, sure.  We can.

MR. SHEPHERD:  Is that part of your GIS or is that part of a different system?

MR. HAN:  It requires the equipment -- the vehicle equipped with a GIS before we know where they are.

MR. SHEPHERD:  Which not all of them are yet?

MR. BEHARRIELL:  Correct, yes.

MR. SHEPHERD:  And that saves you money too, right?  Because you can identify where the problem is --


MR. BEHARRIELL:  I don't know if it saves us money, but in a mass outage scenario when you have vehicles all over the place and you have outages all over the place, you can more efficiently decide which crews respond to which outage by knowing where the vehicles are with certain crew components and in relation to those outages.

At the end of the day in a mass scenario like that when you have tonnes of crews out on overtime, if they get everything wrapped up half an hour early then, yes, maybe there is a marginal savings, but --


MR. SHEPHERD:  And then the last component of this is -- that I am -- from this example is -- I am on page 3 -- is the web-based outage portal, which is not so much for your customers.  This is internally, right?

MR. BEHARRIELL:  Right.

MR. SHEPHERD:  This is giving you internal information on outages.

MR. BEHARRIELL:  Yes.

MR. SHEPHERD:  Again, that saves you money, right?  The more information you have the more efficiently you can respond, right?

MR. KILFOIL:  It is more of an increase in available information than a money savings.  We make a better decision, not necessarily cheaper decisions.

MR. SHEPHERD:  Better decisions save you money, right?

MR. BEHARRIELL:  Well, but I think when you talk about that outage portal, so a customer-service staff that's taking the calls during the outage during regular hours, they now have information on the extent of that outage.

So, yes, they might be able to minimize the call time with a customer during that outage.  Are we reducing an FTE because of that?  No, we're not.  So there is no direct cost savings.  We have better information to supply to our customers.

MR. SHEPHERD:  None of these things are reflected in cost saving in your budgets right now?  Right?  They may be in the future, but not right now.

MR. BEHARRIELL:  True.

MR. SHEPHERD:  Okay.  My next question is on 2 Staff 34.  2 Staff 34, you talk about these two major projects that you are going to be doing.  They're both delta to Y conversions, I guess, are they?  Yes?

But what you said is that even though they're two big Projects, you are actually going to split them into a number of sub projects.  Can you describe how that works?

MR. KILFOIL:  Well, when we assign jobs to planners who go out there and plan specific work to be gone by line Crews, we don't say here's five million dollars go do it.  We break it down into much more manageable pieces to be planned, and staked, and performed more efficiently.

So the item called QEW north delta-Y conversion, for Example, will likely be 11 or 12 actual project folders assigned to planners, then eleven or 12 projects to be done by internal or external staff at the execution end of it.

MR. SHEPHERD:  But the whole project has to be completed before it is energized, is that right?

MR. BEHARRIELL:  No.

MR. SHEPHERD:  You can bring it on sequentially.

MR. KILFOIL:  Yes.  In fact most of the work we're talking about is live line. We’re not killing customers for a month just so we can convert the power.

From the individual customer's points of view, it is a very short outage when they're being cut over to the new source of supply.

MR. SHEPHERD:  And the new source of supply is -- I am not an engineer, so if it is a stupid question, don't laugh.  The new source of supply can be staged.  You don't have to finish the whole thing before the customer --


MR. KILFOIL:  Well, the substations which are the source of supply, the distribution substations have to be complete and used and useful delivering our 4.8/8.3 four wire service.

So for example, in the DSP, there's Gilmore DS being constructed right now.

MR. SHEPHERD:  Yes.

MR. KILFOIL:  Once that whole station is done, it becomes a source for us to reach away from in order to begin to convert the other pieces of the staged program.

MR. SHEPHERD:  And that you can do in stages?

MR. KILFOIL:  Right.

MR. BEHARRIELL:  But it has to be a certain sequence. You can't have part of the load being Y, and then delta, and the Y again.

MR. SHEPHERD:  That’s what I though.

MR. KILFOIL:  And that sequence aligns with retiring one of the old sources of supply.

MR. HAN:  I guess, just one step back again, looking at the big picture, in this -- what we call downtown north, QEW north, there is about a 45 kilometre delta system.  And this delta system coming right now is supplied by you know -- before now you know, the last year, let's say, is supplied by two substations.

So we put all of the load on to one substation.  Then we rebuild a new substation with a different supply voltage.

Then we convert one piece or rebuild one piece and put it to another substation, then another piece, throw it out, another piece, throw it out, until we get all of the 45 kilometers on the substation.

MR. SHEPHERD:  I understand.

MR. KILFOIL:  We also have to be very careful geographically, because we can't kill the trunk of the tree before we have converted the branches.  So the sequencing is quite critical.

MR. SHEPHERD:  Yes, I understand.  I actually do understand, very good.

My next questions are on 2 Staff 38 and 39.  You answered some questions a few minutes ago about this, and I want to make sure I understand.

Your estimated increase -- you're doubling your budget basically between 2018 and 2019, according to your current forecasts, right?

MR. BEHARRIELL:  For that one line item, yes.

MR. SHEPHERD:  And for both of these components.  So you are adding like almost a million dollars a year, 800,000 a year in 2019.

Is that because you have available budget because other projects are finished?  Or is that because your forecast of what needs to be done that year goes up?

MR. KILFOIL:  I would rather put this in the context of the table that it’s extracted from, which is figure 5-2 of the DSP, which is page 9 of the PDF file.

MR. SHEPHERD:  Yes.

MR. KILFOIL:  There is an integrated bunch of things we're doing, but we have a better specific idea in the earlier years and that money is actually specifically earmarked for a specific row item.

But as we get out to about '18 or ’19, we haven't done the detailed engineering.  We only have so many planners; they’re focusing on the work we want to do next year more so than the work we’re going to do in three years.

So that stuff further into the future is not as well defined.  It hasn't been broken out of the larger funding, if you will.

MR. SHEPHERD:  Yes, but my question is slightly different.  Let me clarify.

You are expecting a big jump in these categories of spending in 2019.  You didn't just pick the number out of the air, right?

MR. BEHARRIELL:  No.  So what happens is between the targeted pole replacement program, which is individual poles not a whole line section, and the voltage conversion program and then these programs that you’ve referenced, there is a certain number of poles that get changed per year and we have an idea of -- you know, pole testing will confirm this, but we have an idea of long-term, where we need to get to, you know, levellized annual pole replacement levels and we speak to the transition from this DSP to the next DSP --


MR. SHEPHERD:  Yes.

MR. BEHARRIELL:  -- is to get there.  So as we ramp down the number of poles replaced through voltage conversion projects, which are high in the next few years, that number ramps up to compensate, to keep those pole replacements per year relatively level heading into the next DSP, at which point the actual level will be more informed by --


MR. SHEPHERD:  It is sort of like a combination of both then.  On the one hand, you're going to have more budget available because you are ramping down those other things and you can spend it on pole replacements.  But also, you want to keep your pole replacements at a certain level and to do that, you have to spend more money starting in 2019?

MR. KILFOIL:  Well, we’ve got specific projects already identified in the first couple of years that we know are going to cause pole conversions.

So we didn't need more money in the earlier years to get up towards our desired pole changes.

In the future years, we haven't identified street X or street Y needs to be rebuilt yet, so there is a bit more money left for --


MR. BEHARRIELL:  And depending on the results of the pole testing tests between that targeted replacement program and this distribution upgrades program, the total should be about the same, but it may go up or down between the two programs based on whether it is isolated individual poles in different areas or whether it is a whole street that needs to be rebuilt.  And we have two different programs for that.

MR. KILFOIL:  It is not our intention to only update the DSP every five years, or just before filing.  This is a document we’re going to be reviewing and updating on an annual basis.

MR. SHEPHERD:  It is a rolling plan, right.

MR. KILFOIL:  Yes.  So once we complete a given tranche of pole testing, that will help us identify for 2018 what stuff should we be focussing on.  For 2019, given the funding that the Board is about to tell us we’re allowed to have, what should we be focussing on and so on.

MR. SHEPHERD:  This is a little bit of an aside, but do you have a process in place for ongoing revision of your DSP?  Do you have like a schedule, if you like?

MR. KILFOIL:  We have always had a program for updating our five-year short term, medium term, and long term plan.  It has been codified now into this thing called a DSP.

So yes, we have a process in place to review it on an annual basis as we initiate that year's capital budgeting cycle -- planning cycle, I should say.

MR. SHEPHERD:  But it is not different from how you ran things before?  It may be more paperwork, but --


MR. BEHARRIELL:   And that process is in the DSP itself.  And let me clarify that when we talk about an annual update, it may not be formal to the extent of a document we could file if there is no requirement to do so because this is adding costs for no benefit.

But to update the meter --


MR. SHEPHERD:  But you're budgeting, you have a new budget.

MR. BEHARRIELL:  Yes.

MR. SHEPHERD:  Including a new outlook going forward.

MR. BEHARRIELL:  Yes.

MR. KILFOIL:  There is always a new year five, and may be change in the years in between.

MR. SHEPHERD:  Thanks.  My next question is on 2 Staff 46.  I am on page 5, where you talk about your mutual aid agreements, and your mutual aid agreements appear to be only with your own affiliates.  Is that right?

MR. BEHARRIELL:  Yes.  Actually, sorry -- in the case of EOP, yes.

I believe we may have some mutual agreements in the Niagara region with other utilities in the Niagara region.

MR. SHEPHERD:  That is what I was going to ask, because most of the utilities have mutual aid agreements with third parties, right, with other LDCs.  And you do in Niagara?

MR. BEHARRIELL:  Yes.

MR. SHEPHERD:  With Niagara Peninsula and Welland?

MR. HAN:  There is – it’s called MEPA.  There is a group of utilities we have, you know -- like say for example in 2006, we have a system big outages and we got a hundred linemen working with us.

MR. SHEPHERD:  Okay.

MR. HAN:  A hundred.  We only had like ten and ninety come from somewhere else.

MR. SHEPHERD:  So why in Gananoque do you only have mutual aid with affiliates?

MR. BEHARRIELL:  I think --


MR. SHEPHERD:  What about Kingston Hydro?  Isn't that close enough to help?

MR. BEHARRIELL:  I think Kingston Hydro is close, but a lot of the issues that would impact us in Gananoque may also impact Kingston.

I think we’ve also said – and not to say this issue doesn't apply in Niagara.  But if you take the staff from Kingston coming in, now you’ve got to -- we only have a four man crew in Gananoque.

So we're taking this efficient four man crew that knows the system, that knows what to do, and we're splitting them up to try to work with, you know, people coming in from Kingston because we have to enforce our health and safety protocols.  We have to, from a worker’s safety point of view, have knowledge of the system.

MR. SHEPHERD:  Those problems wouldn't happen if you had an affiliate helping. Somebody from Cornwall.

MR. BEHARRIELL:  Exactly.  And Cornwall really isn't that far.  I mean, it’s two hours away and yes, it would take time to mobilize.  But in our view, the time to mobilize from Cornwall and then ready to hit the ground running efficiently as stand-alone crews is preferable to trying to split up our crew to work with crews from other utilities.

MR. SHEPHERD:  Right.

My next question is on 2 Staff 50.  50, five-zero.  And my note is -- this says it is a proprietary technology.  And I guess, do you know how the technology works?

MR. KILFOIL:  We were given an overview of this methodology, but Dr. Sammy did not divulge specifically how he gets from A to Z, so I think that is part of his value-add that he brings to the table.

MR. BEHARRIELL:  I will say it is not a proprietary technology, it is a proprietary method of analyzing the results.  So the technology is, you know, resist-o-graph testing to test the fibre strength.  Extrapolating that result into a probably remaining life is the proprietary nature of it.

MR. SHEPHERD:  So you are just relying on his expertise.  Do you have some evidence that he is right?

MR. BEHARRIELL:  Well, I think that goes back to our earlier conversation of, you know, we have these pole test results and we show a group, you know, with very little life remaining, and then it goes down, and then a group with lots of life remaining.

So really to us when we're doing the pole testing and as we get into it, you know, we have an intent on doing it on some kind of cycle.  As long as the results that give us, you know, the wood fibre strength to identify what poles are critical in the short-term are accurate, you know, the poles in between, whether his method produces seven years remaining or ten years remaining or, you know, 14 versus 18 really isn't a huge impact.

MR. KILFOIL:  Since we filed this, we've -- you know, the pole testing agency we're working with this year is using a more open methodology for its evaluation analysis.  So this issue from 2011 is -- we're not working with Dr. Sammy this time.

MR. SHEPHERD:  Oh, I see, okay.  I didn't know that.

All right.  Then my next question is 2 Staff 51.  And the question was about using probabilistic techniques to assess when you had to replace substation assets.  Yet I look at the answer to (a) and I didn't see anything here that was different than the sort of standard, this is how you normally do things.  You look and see, well, you know, there's a leak there.  This is going to need to be fixed soon.

Can you just sort of give me an explanation for how this is probabilistic as opposed to just engineers going in and using good judgment?

MR. KILFOIL:  Well, we would look at the observable -- like, one way to evaluate the condition of a substation asset is actually take it out of service and run it through a gamut of tests where you're actually going to measure some factors.

But our system is small, and for us to do that in some cases we would have to take customers' outages, or put the system in a condition where if there is an outage that's going to be to a much wider extent and create much poorer reliability as a result.

So we have to actually evaluate these transformers in service or perhaps a circuit breaker on the primary side supplying that transformer, depending what kind of component we're trying to evaluate.

So rather than doing those direct tests and giving you an exact answer, well, you can tell from, you know, from evaluating -- you know, other than dissolve gas analysis, which you can do in service, you know, if we didn't -- so instead we have to look at, given what we do know, and given the age of the transformer and so on, how long is it likely to last?  So that is where the probabilities kick in, is you're now looking at survivor curves and mortality tables and making a best, you know, a best estimate of expected life given what you know.

MR. SHEPHERD:  But you don't have some fancy piece of software that's doing this, right?  You have engineers looking and saying this has to be done in the next ten years.

MR. KILFOIL:  Yes.

MR. SHEPHERD:  So, I mean, you talk about probabilistic techniques, but that sounds like the way it's been done for a pretty long time.

MR. KILFOIL:  Yes, the traditional method is probabilistic.

MR. BEHARRIELL:  I mean, whether it is an engineer or...

MR. SHEPHERD:  I was looking for some cool piece of software that I could then in the next case say, Hey, why aren't you using this software?


MR. KILFOIL:  Sorry, it's five years of school, 20 years of experience.

MR. SHEPHERD:  All right.  And then my next question is on -- yes, on 2 VECC 10.  So this talks about upgrading your SAP software.  Right?  Is this yours?  Or is this Fortis's software?

MR. BEHARRIELL:  It is ours.  CNPI's.

MR. SHEPHERD:  So I am not sure I understand why CNPI has its own SAP system, which is tremendously expensive, as opposed to sharing with your family of companies.

MR. KING:  So CNPI sharing with -- you mean the Fortis -- larger Fortis group of companies?

MR. SHEPHERD:  Yes.

MR. KING:  So going back to Fortis, that's not the way Fortis operates.  Each company would work on its own system, its own board, its own structure.  So we don't share services at that scale within the Fortis group.

MR. SHEPHERD:  Well, you share some services, right?

MR. KING:  We share limited services.  The only real service that we really provide is, we share insurance.  Insurance is put to a Fortis group.  But otherwise, you know, we, you know, share some expertise and we share best practices amongst ourselves and some intelligence amongst ourselves, but service-wise, you know, we really run our own shop.

MR. BEHARRIELL:  And, sorry, are you talking about at a Fortis level or a Fortis Ontario level?

MR. SHEPHERD:  Well, either.

MR. KING:  I think you're talking the Fortis group level.  So within Fortis Ontario CNPI was the original company and it got into the SAP business.  I think, you know, SAP, while it sounds -- we have a team and we run it pretty efficiently in our shop.

And so that is the shared assets that we would use to run the customers for Cornwall, Algoma, and some other associated companies.

MR. SHEPHERD:  So when you spend this additional money for -- some of it is for functionality and some of it's for upgrading and the things like that, when you do this, your affiliates then have to pay more for their use of the same facilities, right?

MR. KING:  Yes.

MR. SHEPHERD:  So you're recovering their share of the costs.

MR. KING:  Yes.

MR. SHEPHERD:  It's like it's a shared cost.  It's just, you're the host.

MR. KING:  It's a shared asset, we call it, yes, right.

MR. SHEPHERD:  Yeah.  All right.

MR. GARNER:  Jay, if you are going to leave this, this is one I actually did have a question on I didn't get to, which was 2 VECC 10, so with your permission, Jay.

MR. SHEPHERD:  Sure.

MR. GARNER:  I was -- these have different in-service dates, and one of the notes I had was to just check with you about, are they in-service.  So we are in Q3 right now, right?

MR. BEHARRIELL:  Yes.

MR. GARNER:  So if I go down this list, is everything in Q3 and Q2 now in-service?

MR. KING:  Yes.

MR. GARNER:  And if we look at all of the Q4 items, are they all still on the same path to be in-service by the end of the year?

MR. KING:  That's my understanding that they are, yes.

MR. GARNER:  Thank you.  Thank you, Jay.

MR. SHEPHERD:  And that's actually all of my questions on 2.  Thank you.

MS. DJURDJEVIC:  Okay.  Did we want to take a lunch break now or continue -- or start into Exhibit 3?  Lunch?  Okay.  Let's -- yeah.  Good idea.  Okay.  Let's break now until 2:00 p.m.

Okay.  All right.  Thank you, everyone.
--- Luncheon recess at 12:53 p.m.

--- On resuming at 2:00 p.m.

MS. DJURDJEVIC:  We are now moving on to questions on Exhibit 3, and assuming we're starting with the same order, with Mr. Aiken.

MS. DJURDJEVIC:  Line the post.

EXHIBIT 3 and 4
Questions by Mr. Aiken:


MR. AIKEN:  I am actually going to ask my one question on Exhibit 4 as well, because I realize it ties into the same issue I’m dealing with under Exhibit 3.


I want to start with the response to 3 Energy Probe 13, and this has to do with the 1,139,000 in account 4375 that we talked about this morning a little bit.  I just want to make sure I understand what is in this account in the 2017 test year.

So am I correct that the revenue shown in account 4375 is only related to the cost of capital and the depreciation expense associated with the shared services provided?  In other words, there's no OM&A in it?

MR. VANDER VLOET:  That's correct.

MR. AIKEN:  And then the revenue and costs associated with the recovery of the OM&A costs associated with these shared services, are they included in other lines in the other distribution revenue offset table?  If so, what line numbers, what account numbers?

MR. VANDER VLOET:  Unfortunately, I am not exactly sure how we account for the OM&A portion of these shared service costs.


What happens from an accounting and reporting perspective is we record any recoveries that are billed/charged out to the affiliate companies as a credit within the admin and general grouping of OM&A accounts.

MR. AIKEN:  Okay.  So the OM&A and costs -- or the revenue associated with the OM&A costs are an offset to the OM&A directly, and they're not in the other revenue offsets?

MR. VANDER VLOET:  That's correct.

MR. AIKEN:  Okay.  Then skip to the response of 4 VECC 30.  This is where the revenue is broken down year by year between the IT charges and the shared equipment charges.

And my question there is:  Why is the revenue projected to decrease in the test year compared to the bridge year?

MR. VANDER VLOET:  So in 2017, as referred to throughout the rate application, we adopted the -- or are proposing to adopt the new methodology as requested by the OEB in a previous proceeding.


So what we did to come up with the 2017 values was that we, for the first time for ratemaking purposes, took a more detailed analysis approach, a more granular level approach on identifying specifically Niagara specific assets that really are not to be allocated from a cost-base perspective out to the related parties.


As such, we carved those out from the other assets that we deemed to be shared, and used those remaining assets to come up with a calculation on what amounts are to be shared amongst the other companies.


MR. AIKEN:  And I take it you didn't do that same type of detailed analysis for the other years shown there?

MR. VANDER VLOET:  That's correct.


MR. AIKEN:  So really they're not comparable.  Even though the question asked for comparable costs, the methodologies were not -- are not comparable?

MR. KING:  Just a little background on that.  Always for internal financial reporting purposes, we had a charge back and forth.  We didn't have shared assets.  We had this internal charge and these are the numbers we used for that purpose only.


For ratemaking purposes, we did the whole shared assets, took them out, notional assets over on the other account.  That’s what these numbers are.  We went a little more granular in 2017.


MR. AIKEN:  Yes, okay.  So then back on 3 Energy Probe 13, the 1,139,000, will you undertake to show the calculation of the revenue in that amount based on the net book value and the depreciation figures that are shown on the response to part (d) of 3 Energy Probe 13?  That is where we have the 3.759 million in assets.

MR. KING:  Can you repeat the undertaking again?

MR. AIKEN:  Yes.  To show the calculation of the 1.139 million in revenues based on the net book value and the depreciation values shown in response to part (d) of 3 Energy Probe 13, but this time including taxes.


MR. KING:  Will do, yes.

MR. AIKEN:  Okay.

MS. DJURDJEVIC:  That is undertaking JTC1.3.

UNDERTAKING NO. JTC1.3:  TO SHOW THE CALCULATION OF THE 1.139 MILLION IN REVENUES BASED ON THE NET BOOK VALUE AND THE DEPRECIATION VALUES SHOWN IN RESPONSE TO PART (D) OF 3 ENERGY PROBE 13, BUT THIS TIME INCLUDING TAXES

MR. AIKEN:  Would I be correct that based on that response, your response to JTC 1.1, the new revenue requirement work form, would include any changes that come out of this?

MR. KING:  Yes.


MR. AIKEN:  Okay.  Then my last question also refers to 3 Energy Probe 13, the 3.759 million in assets.  But it also goes to 3 VECC 24, where we have a net book of $639,000 for the fee for services, for the -- I think this was some IT work or something that you do for Grimsby and somebody else.

MR. KING:  Yes.


MR. AIKEN:  And my question is:  Are these subsumed in the 3 Energy Probe 13, or are these stand-alone or additional assets on top of the 3.759 million?

MR. VANDER VLOET:  These would be a subset of the assets that would be included within the 4375 calculation.  But they are identified separately and distinctly as being assets that are also utilized by our associates.

MR. AIKEN:  Okay.  So then the amount that is shown in 4375, again that is strictly the return on capital and depreciation associated with that 639,000?

And any OM&A related costs that are recovered through revenues are an offset to the OM&A costs, the same as you described previously for the assets in 3 Energy Probe 13?

MR. KING:  So the OM&A costs -- so the OM&A costs that are collected through these associated companies are actually included in that other revenue calculation, other revenue.  It is not a subset within OM&A.

So there is -- I don't know what the account number is, one of the accounts, the OM&A costs associated with that.


So our variable costs that our IT folks would work on they would charge their time to this 43 --


MR. AIKEN:  Is it 4325?


MR. KING:  4325.

MR. HARPER:  4330 is the cost.


MR. AIKEN:  And 4325 is where you show the revenues.


MR. KING:  That's right.


MR. AIKEN:  But only the OM&A based revenues.  The cost of capital based costs are in 4375? 

MR. KING:  Well, I think both the costs of capital and the OM&A revenue, the variable revenue we call it, are in that 43 --


MR. AIKEN:  So they're not --


MR. KING:  They're not both in the same account.  The costs are in the lower account than the revenue.


MR. AIKEN:  Okay, now I am confused because in 3 Energy Probe 13, the 3. -- whatever the number was 3.759 million, I thought you indicated that the 639,000 in the VECC response was included in that.

MR. VANDER VLOET:  If I may, a point of clarification

The revenue that is recorded in the 4375 account, which is in 3 Energy Probe 13, is directly related to the amounts that would be billed to our related parties within the Fortis Ontario group.

The amount of revenues that we have disclosed in appendix 2 (h) under OEB account 4325, if you look further down into the details in appendix 2(h), we show a break down of the amounts that are in fact billed to outside related parties, which we have defined here as GPI and Westario.


So the fixed and variable revenues associated with billings to the associated companies, GPI and Westario, would be recorded in 4325, and the variable OM&A component related to those would be recorded in 4330.

MR. AIKEN:  Okay.  And then you probably know what my next question is:  Do your revenues from GPI and Westario   reflect not only OM&A, your cost of capital and depreciation, but also taxes?

MR. KING:  They do not.

MR. AIKEN:  Okay.  Would you undertake to indicate --or to provide a calculation of what that tax impact would be?

MR. KING:  We would.  We would.


MR. AIKEN:  Okay.

MS. DJURDJEVIC:  That will be undertaking JTC 1.4.

UNDERTAKING NO. JTC 1.4:  TO PROVIDE A CALCULATION OF THE TAX IMPACT FOR REVENUES FROM GPI AND WESTARIO

MR. AIKEN:  I think those are all of my questions; let me just check.  Yes, those are all of my questions.  Thanks.

MR. HARPER:  Actually, I think Randy just managed to work through the bulk of what was going to be the most complicated question I had as well sort of thing, because it was in exactly the same area.

Because -- and just to confirm, the 4,325 is for the -- your IT services you provided to what I would call unrelated utilities?

MR. KING:  Yes.

MR. HARPER:  And the 4,375 is revenues from related utilities, so that is the distinction between the two?

MR. KING:  Correct, correct.

MR. HARPER:  The assets and depreciation shown in Energy Probe 13(d) are related -- are the ones that underpin the charges to the related utilities, and the assets shown in VECC 24(a) are the assets underpinning the charges to the unrelated utilities?  If I understand this correctly.

MR. KING:  Yes, correct.

MR. VANDER VLOET:  Yes, yes.

MR. HARPER:  Okay.  Fine.  And then I think your undertakings to Mr. Aiken to provide the tax calculations on both of these was my final, so that's great.

MR. KING:  Yes.

MR. HARPER:  Okay.  So actually, my other two questions are fairly simple then.

Could you just turn to Energy Probe 10, 3 Energy Probe 10.  Actually, just to put this in context, I was just looking through Exhibit 3, and it wasn't clear to me whether the customer count numbers, both the historical values you used there and forecast in Exhibit 3, were meant to reflect year-end customer counts or average annual customer counts.  Can you just clarify that for me to help me put these numbers into context?

MR. BEHARRIELL:  Absolutely.  So for load forecasting purposes in Exhibit 3, the customer counts are annual average.

MR. HARPER:  They're the average annual values.

MR. BEHARRIELL:  Yes.

MR. HARPER:  Oh, okay.  Fine.  That's great.

My last question in this area is, if you could go to VECC 17, Part B, and my follow-up is probably predicated on the fact that I probably didn't do a good job of asking the question to begin with.

As I understand it, when you were constructing your load forecast model and you were looking for an economic activity indicator, employment was the only one where you could find a regional historic value, so you started off by testing employment at the regional level to see how that worked from a modelling perspective.

In the end you actually found that an Ontario-wide employment measure was -- actually did a better explanatory basis than a regional employment, if I am not mistaken.

MR. BEHARRIELL:  That's exactly correct.  And the wording in --


MR. HARPER:  Yes.  What my question was, was, having decided -- having found that a provincial employment value worked better than the regional one, what I meant to ask was:  Did you then go back and look whether there were any other provincial-wide economic indicators such as GDP or whatever else that would -- actually might be a better indicator than using employment on a province-wide basis?

MR. BEHARRIELL:  I would have to undertake to --


MR. HARPER:  I am not asking you to actually do the work.  I just want to know whether you actually went back and revisited using -- possibly using other economic indicators besides employment at the provincial level.

MR. BEHARRIELL:  I don't believe so, but if you want a definite answer, I would have to consult.

MR. HARPER:  Maybe if you could just confirm that for me, that would be great.

MR. BEHARRIELL:  Absolutely.

MS. DJURDJEVIC:  That will be Undertaking JTC1.5.
UNDERTAKING NO. JTC1.5:  TO GO BACK AND SEE WHETHER THERE WERE ANY OTHER PROVINCIAL-WIDE ECONOMIC INDICATORS SUCH AS GDP THAT MIGHT BE A BETTER INDICATOR THAN USING EMPLOYMENT ON A PROVINCE-WIDE BASIS.

MR. HARPER:  I think those are all of my questions on Exhibit 3.

MS. DJURDJEVIC:  Okay, thank you.  So next is Board Staff on Exhibit No. 3.  No?

MR. GARNER:  Mr. Harper.

MR. DAVIES:  Staff has no questions on 3.

MS. DJURDJEVIC:  So Mr. Shepherd?

MR. SHEPHERD:  SEC has no questions on 3.  They have all been asked.

MS. DJURDJEVIC:  So we wrapped up question number 3.  We can move on to 4.  First of all to you Mr. Aiken.  Anything on Exhibit No. 4.

MR. AIKEN:  No, and I can tell you I don't have any questions on any further exhibits.

MS. DJURDJEVIC:  Okay.  Mr. Garner, Mr. Harper?
Questions by Mr. Garner:


MR. GARNER:  I hate to disappoint, but I do have a few more questions.  I will just see if I can find them, though.

If you could pull up 4 Staff 59, and we had a discussion -- there was a discussion earlier about -- this is about the ash borer program.  And the question was to break down the $100,000 increase in the ash borer program.  And you broke it down to 95,000 -- or 95,5.  And I take it by breaking it down we have already saved $500.  So kudos to Board Staff.

But I was just -- I wanted to go through what this is, and let me just start by giving you back what I heard this morning and what I understand in any event what's happening in the Niagara region at least with the ash borer, and certainly in some cities like St. Catharines and maybe the same with Fort Erie.

As I understand what's happening is there is a program to eradicate the trees because they're all going to be infected, and as you pointed out earlier, that once infected there is no hope of recovery of the tree.

So some cities -- and I don't know if Fort Erie has this or any of the service territories, you have it -- have a program of simply cutting down emerald ash, right?  Or the ash trees, right?

So if I understand from what you have given in this table, there is about $1,000 for cutting down trees, and the budget you have in total for '17 is 27,5.  So what I am going to suggest from that is, that is 25, roughly, trees that you have forecast to cut down under your budget for $100,000.

Would that be -- you are shaking your head.  That is not right at all?

MR. BEHARRIELL:  No, that is exactly correct.  The 25 trees is indicated right on the table there.

MR. GARNER:  Okay.  So for the $100,000 there is only 25 trees coming down, and I am a little bit then lost at where the other 74,5 is -- why it is so expensive.  I mean, once the tree is found, what is the -- especially the item about assisting customers and stakeholders.  What is that all about?

MR. BEHARRIELL:  Okay.  So the other rows on that table, you know, we have 35 trees, 25 trees, and 20 trees in different circumstances.  And so as you alluded to, you know, some cities have programs to take these trees out.  We expect that even if Fort Erie and Port Colborne don't have formal programs that they will identify specific trees that have to be taken down for one reason or another or individual customers may identify certain trees that have to come down for one reason or another.

And so what we're saying is, once those trees are identified, if they're in proximity to our power lines from a safety point of view we have to make it safe for them to remove those trees, so we're not incurring the cost to actually remove the tree --


MR. GARNER:  Oh, I see.

MR. BEHARRIELL:  We're incurring the cost to make it electrically safe for a third party to remove the tree.

MR. GARNER:  Okay.  Thank you.  Let me just confirm then what I've heard.  None of the program costs of $100,000 are actually for cutting trees down.  It is all for basically assisting parties --


MR. BEHARRIELL:  No.  The first 25 trees you mentioned are for, you know, if the tree is on our right-of-way or on our land.  Otherwise then those are our trees that have to come down.

As we get from 2017 to other years, that 25 may go down and the other numbers may go up --


MR. GARNER:  Okay.  Let's just break that down by row then, though, because what -- I'm seeing two other rows, leaving aside the -- well, three other rows, the risk -- completion of risk assessment, then the two assisting customer rows, I will call them.

MR. BEHARRIELL:  Yes.

MR. GARNER:  You were saying one of them is for making trees -- it safe for other parties to remove trees.  Which row is that?

MR. BEHARRIELL:  So that would be the row where it says "assisting customers and stakeholders, creation of electrically safe work zones".

MR. GARNER:  Okay.  And the "assisting customers/stakeholders, additional ash tree trimming", what is that about then?

MR. BEHARRIELL:  So that could be a situation where, you know, it's more cost-effective for us to do some initial level of trimming where there's branches that are towards the power line, so rather than creating a safe work zone, if we can take down pieces of the tree to our, you know, our vegetation management contractors and internal crews that would then make the rest of the tree safe for them to remove without cutting in switches or otherwise creating an electrically safe work zone, that is what those ones would be for.  So it's slightly different circumstance.

MR. HAN:  I just want to clarify a little bit.  Certain trees, when they approach to our line, we have a tree-trimming program.  The reason we have a tree-trimming program, the standard calls for anything within ten feet of our line we treat ourselves.  It is a part of our programs.

So one of the reasons for that is unsafe zone for average Joe to go there and do it.  We have to have a professional to do that.

So when a customer wants to take down a tree, even though it is not completely dead or it is dead, the branches still there, if those branches are close enough to our line, we're going to go there to trim the trees first, before they go to the remove the trunks.  That is the third line.  That's the 25 trees.

The 35 trees is, we just -- people -- if the trunk is close enough to the line, we need to make the zone safe so that the guys can remove the tree and make it safe.  That is the second line.

The first line is actually we own the tree.  We have to cut the tree from the bottom.  That's the first line.

So there is four different lines.  The first line is we cut the tree we own.  The second line is we make it safe for the customer to cut the tree on our line.  Like we install switches, you know, cover up the conductors, whatever.

The third line is we basically go there, cut those branches close enough to our line to assist the customer to cut down the tree, because if you cut down the tree and the branch is too close to our line, it may cause some issues.

And the fourth line, of course, is fixing any problems if you have any.

MR. GARNER:  Okay, I think I understand that.  So presuming you do the third line, which is tree trimming --what I would call for the point of making the tree safe, you never have to come back and do anything again because when that tree comes down, presumably it can come down without interference?

MR. KILFOIL:  Not necessarily.  Like the tree is typically tall.  We can clear our way enough -- under the second-last row, we can clear away enough of the foliage so that someone can safely remove the whole tree.  But if they subsequently don't take the tree down, the tree might still be tall enough to fall into our line later, when it’s dead and falling down.

So just because we've removed the stuff near our wire doesn't guarantee that that tree won't interfere with our wires.

MR. GARNER:  You're not responsible for taking any trees down that are not on your right-of-way, right?  That’s either a private property or it’s a municipal issue.

You're not allowed to take down a tree that is not on your right-of-way, because is not yours to do, right?

MR. BEHARRIELL:  Unless in a case where perhaps it was an imminent hazard.  But, yes, generally speaking.

MR. GARNER:  Okay.  And then what you also have is a total of the last row, $27,000 for asset repair.  So this is you are presuming that so many trees fall and hit your equipment?

MR. BEHARRIELL:  Right.  We expect to see an increase in tree related failures that do impact our line.  We intend to make best efforts to encourage municipalities --


MR. GARNER:  Where did you get the number from?  This started in 2009, I understand.  So how did you come to the conclusion that you would be spending 27,000 a year on trees that are hitting your equipment?

MR. BEHARRIELL:  It was an estimate, you know, based on the Emerald ash borer impact assessment that was provided by the consultant.  That is an estimate that our operations managers reviewed that information and because we don't have a history --


MR. GARNER:  How many Emerald ash bore trees hit your equipment last year?

MR. BEHARRIELL:  I don't know that I have that specific number for that.  I mean, it's a study that we do expect some delay from the initial impact to the trees actually, you know, dying and failing.

MR. GARNER:  But this isn't a new problem.  I mean, this ash problem apparently is now in its eighth year, I guess, right, 2009 --


MR. BEHARRIELL:  I don't know that it's in the eighth year of full impact in the Niagara area.  It started in Ontario at a given point, and there’s been migration in Ontario between areas.  I don’t have the specifics.

MR. GARNER:  Did you keep records of the last few years of how many trees of these infected trees have been hitting your stuff?  Is that part of what you have been following?

MR. BEHARRIELL:  I can see we tracked through related Outages.  I don't believe that our crews have gone to the length of identifying tree species.

MR. GARNER:  Not identifying the species, okay.  And this report that you are speaking about, is this the report that is -- the best way for me to actually reference it is probably using the PDF page number.

I am at PDF page 1501 of Exhibit 1, and I am wondering if that is the extent of the report?  Or if this is the report you keep referring to?

MR. BEHARRIELL:  Yes, yes.

MR. GARNER:  In this report, which is -- I don't know, maybe five to six pages long, the only specific information that I find in it is on the last -- the second to last page, where it basically talks about 6590 ash trees that are basically identified, of which -- I take it that is the population of trees and not the population of trees you have to deal with, because it goes on to say 40 percent.

But this doesn't really say how many trees that you have to get at.  It hasn't done any assessment of really where the problems are.  It's a fairly broad -- I mean, the first four pages is just a description of what this whole problem is.  It doesn't actually say anything about you.

This page, which is -- I am on page 1506, seems to be the only singular page with any real information about your company.  Is that correct?  So that is what you are relying on?

MR. HAN:  Yes.  Yes.

MR. GARNER:  Thank you.  Mr. Aiken asked that one -- sorry, I am just going through here.

This is just for my edification, I don't really understand this issue.  4 Staff 72, where staff is asking you about the defined benefit plan and the costs therein, and that you may have a surplus in the plan, and et cetera.

And you said, yes, we do, but you wouldn’t fund it – you said it wouldn't be any impact in any event.

Can you just help and walk me through this question and what is going on here?  So what I understand basically from this is that you have a surplus for the defined benefit component of your plan.

And the insinuation in the question was that you could you have used the surplus to fund something.  And you said, well, it wouldn't make any difference.  That is sort of my paraphrasing of the answer.

Can you just help me with what this is getting at?

MR. KING:  This is a question that was answered by our actuary, Mercers.  So we proposed that to them; this is the response they gave.

I don't know if I can add anything else to what is there.

MR. GARNER:  Well, I guess all I need to understand is the issue, it seems to say -- and this is the ratemaking aspect of the issue is whether the plan was in a surplus or not wouldn't make any difference, as I read it here, to the application.  I think you say that someplace in this response.

MR. KING:  Again, I would just be speculating on the question.  If you want me to undertake to provide some more detail, I can.  This wasn't one of the questions I had anticipated to jump into.

MR. GARNER:  Okay.  No, let me think about that.  Because I will go through it again just before I deal -- while we're going through the other stuff.  If I do, I will come back to it; if I do want something more, I will come back to it.

No, that one was covered.  Sorry I am just going through some of the stuff Mr. Aiken talked about here earlier.

I think that is all of my questions and I will think about that latter one, whether I want to follow up that up after Mr. Shepherd completes his questions and Staff.  So thank you.

MS. DJURDJEVIC:  Thank you, Mr. Garner.  Mr. Davies, anything from Board Staff?

MR. DAVIES:  Yes.  I have a couple of questions, and so does Mark Rozic of our accounting group.  So he will ask his questions first.
Questions by Mr. Rozic:

MR. ROZIC:  Thank you.  So my first question relates to Staff 67, in particular, the response given to -- actually, scroll down a bit to the graph right here -- the response provided for the supplementary retirement plan.

Based on my review of the application, is the methodology for recovery accurate there?  Should it not read “cash contributions”, or something similar to what you have for the OMERS plan, cash equals accrual. Can anyone confirm that?

MR. KING:  Did you say the supplementary plan?

MR. ROZIC:  Yes, it’s a supplementary, so it’s the DC component.

MR. KING:  You are correct in saying that, yes, I think that should be corrected and saying cash.

MR. ROZIC:  Or accrual equals cash, because I think essentially it’s the same thing for accounting purposes.

MR. KING:  Yes.

MR. ROZIC:  Okay.  Staff 68, please.  In particular, bring up the graph that they populated.

Okay.  So the purpose of the graph was to present in actual dollars the amount by which the company would be over or under recovering their pension costs from a rate-setting perspective.  When I look at the line item titled “Allocated to related parties”, is it appropriate to include that amount within this comparison, specifically on the basis that those amounts actually don't ever make it into rates?

I think, from what I have read in the application, those amounts get recovered directly from the related party through some sort of service agreement.

MR. KING:  Yes, I think -- in this particular case, we had a subsequent call with Board Staff and asked for clarification how to fill out this table.

MR. ROZIC:  That was actually with me.  I don't know if there was a miscommunication.  I think we -- what I was trying to highlight was it is the actual dollars that would have made it into rates, I guess.

MR. KING:  So I am glad you asked that question.  Correct.  That allocated amount shouldn't be there --

MR. ROZIC:  Okay.  And then there would be a contribution component as well that would need to get pulled out?

MR. KING:  A contribution component that would need to get pulled out?  Well, can you further clarify what you mean by that?

MR. ROZIC:  So assuming that you are saying that the top represents the accrual amount for that specific line, and then you have -- you compare it to the total contributions, presumably a component of your total contributions would relate to that portion of the pension expense as well.

MR. KING:  Oh, okay, okay.  Supposedly, yes, a portion of that.

MR. ROZIC:  So can we get this graph updated to reflect that?

MR. KING:  So this graph, as we described, as we discuss in the undertaking -- or in the original we talked about, it's not an easy graph to put together.  So we would have to go back to Mercer's to get the details, because your special contribution is not by individual, and that is what the above part is, by individual.  So it is a little more challenging to do.

And then to further add to that, the amount that we have there for capital, that is an amount that gets allocated to capital.  So that is the amount of our pension OPEBs that get allocated to capital.  Well, that is not necessarily the amount that would be in rates.  The amount in rates would be, you know, you look at this, this would be -- if I was to look at the capital piece alone, so in 2017 I have $133,000 of pension expense, that gets allocated to capital.

So that would represent, you know, less than 2 percent of my total capital spend of $10-million.  So one would argue that maybe 2 percent of depreciation would be the capital amount that is built into rates.

MR. ROZIC:  I think --

MR. KING:  You don't want to go through that --

MR. ROZIC:  No, no, no, no, I think what we want to see is the total expense that would have been included in the application versus the cash contribution.

So I know what you're saying.  You're saying that a portion of what's capitalized only gets reflected in rates through amortization expense and through the recovery -- or through the rate base calculation.

But what we're looking to see is just the comparison between the expense for regulatory purposes versus the cash contributions for --

MR. KING:  You just need to be careful in labelling it when you say "included in rates", because that is not the amounts that's included in rates.  So that was just my clarification.

MR. ROZIC:  No.  No, it makes --

MR. KING:  That is the amount that went to capital.  That is not the amount that went to rates.

MR. ROZIC:  Okay.  So are we okay with getting the graph updated?

MR. KING:  I could -- I can update the graph.  You just need to take out that -- the special contribution I will have to think through that one a little bit.

That's -- you know, again it is not by individuals.  These are broken out by individuals and sharing of individuals.  I could -- I've got to think through the logic of whether I can just simply take a percentage, because I don't know if it actually works that way.

MR. ROZIC:  Okay.  Just because likely the inclusion may be skewing the overall over- and under-recovery for regulatory purposes, so --

MR. KING:  Yes.

MS. DJURDJEVIC:  So could we clarify what CNPI is willing to or able to undertake to do, and then the other part is, if you are able to?

MR. KING:  Yes.

MS. DJURDJEVIC:  Okay.  So can we just restate that for the record?

MR. KING:  Yes.  We will have a look at the contributions and we will think through the logic of the contribution.  We certainly can take out the allocated amount, and we'll change the title of it.  So it is the amount that's included in capitals, amount that's included in -- not amounts included in rates, because that is not -- well, it's included in rates.

MR. ROZIC:  Agreed.

MS. DJURDJEVIC:  That will be Undertaking JTC1.6.
UNDERTAKING NO. JTC1.6:  TO LOOK AT THE CONTRIBUTIONS AND THINK THROUGH THE LOGIC OF THE CONTRIBUTION.

MR. ROZIC:  Just another quick question on the graph as well.

The contribution line for the bridge and test years, there's zero contributions.  I am presuming there is no contributions because of the plans in the surplus, so there is a, I guess, a contribution holiday from the employer's perspective.

MR. KING:  Correct.

MR. ROZIC:  I know you -- I haven't seen the -- there was an updated DB pension valuation done in February from Mercer's.

I have seen the December 31st, 2014 one, which does say that there's zero contributions for the '17 test year.  However, does the -- I haven't seen the full updated pension valuation that was done in February.

Does that also continue to state that there is zero contributions for the test period?

MR. KING:  So what was done December 31st, 2014 was a funding valuation.  That was done for the regulator.  Whereas what you saw in February is the accounting calculation.  So there is no calculation of funding requirements.  They're separate and distinct.  Funding versus accounting is separate and distinct.

MR. ROZIC:  Okay.  So there was no update in the funding valuation, is what you're saying.

MR. KING:  The next schedule update is December 31st, '17.

MR. ROZIC:  So to the best of our knowledge the surplus still exists and the contributions still would be nil for the test period?

MR. KING:  Correct.

MR. ROZIC:  Okay.  That's it for that.

MR. SHEPHERD:  Can I ask a follow-up question on that?

MR. ROZIC:  Sure.

MR. SHEPHERD:  You said you don't have any information prior to 2009?

MR. KING:  Well, I guess we have information in our column, because we -- it was a pretty broad question to go back to Day 1, 2002 of what -- what was included in rates, what got capitalized, what our funding was, et cetera.

So we had a call with Board staff and to the best of our ability provide historical information.  So we easily got the stuff back to 2009.  To go back to 2001-2002 is a little more challenging.

MR. SHEPHERD:  So my question is, you've been collecting money from ratepayers, and let's just take OPEBs for now, because pension self-adjusts, right?  You have to value it periodically, and over time it has to adjust to zero.

But OPEBs doesn't.  OPEBs, you're paying out certain amounts, but you are recovering a different amount, and consistently you are recovering more than you pay out.

And so I guess my question is, you must have accounted for this somehow.  You must have some number where in your accounting records you say:  We have all this extra money that we collected and we didn't pay it out.

MR. KING:  No, no.  It doesn't --

MR. SHEPHERD:  Why not?

MR. KING:  Well, first of all, the number -- as I pointed out earlier with the pension piece, the OPEB, the capital, the same comment with capital, the capital amount that's included here is not the amount that I collected from ratepayers.

MR. SHEPHERD:  Well, no, you do, you just collect it over time.

MR. KING:  Again, it is all about timing then.

MR. SHEPHERD:  I guess the question is, how do you account for this?  If you collect more money for this cost than you pay out, how do you account for the difference?

MR. KING:  If I collect more money than cost?  So I don't count for the difference because my pension accounting or my OPEB accounting is separate and distinct from -- because you're suggesting is, are you carving out of your revenue requirement a piece that is related to OPEBs and pension and putting that in a separate account and then comparing that to the amount you paid to premiums or you paid to special payments, and do you compare the two?

But my revenue gets all jumbled in as my revenue requirement, so we don't -- you don't count for that separately.

MR. SHEPHERD:  Don't you have a regulatory liability for that?

MR. KING:  Why you -- no.

MR. SHEPHERD:  At some point it has to come back to zero, right?  OPEBs has to come back to zero sooner or later, right?

MR. KING:  One would -- in theory one would hope that would come back to zero.

MR. SHEPHERD:  That means that you're going to collect less in rates than you pay out in the future, right?

MR. KING:  At some point in the future one -- in theory that might happen, yes.

MR. SHEPHERD:  And it is at least $1.8-million, because you have seen that already.

MR. KING:  And on top you saw my pension amount.  It's a lot higher the other way.

MR. SHEPHERD:  No.  But pension you do report on your -- you keep that total on your financial statements, right?  You calculate it.

MR. KING:  Say that again?  So...

MR. SHEPHERD:  So the pension surplus or deficit, right, is something you calculate.  You have to for pension purposes; you don't have to for OPEB purposes.

MR. KING:  So I do have a reserve for pension purposes, and I do have a reserve amount for OPEBs, if that's what you're saying.

MR. SHEPHERD:  Which would be like a regulatory liability.

MR. KING:  But it's not a regulatory liability at all.  Pension accounting is separate, you know, it's not -- it's not a regulatory -- this is not a regulatory liability. This is my -- OPEBs are what I put away for my current employees so when they retire I have a reserve for them that I will have paid their medical or whatever costs once upon retirement.  Same way with my -- except I am not allowed to fund that.  Or I don't fund that.  You are not allowed to deduct it for tax purposes, whereas my OPEB -- my pensions, I do have that similar liability set up, but I do -- I am required to fund that.

MR. SHEPHERD:  And you deduct it.

MR. KING:  And it's deducted for tax purpose, and it is taken off on my Schedule 1, which is part of the rate application.  But I don't track separately, as you suggested, the amount that comes in through rates and compare it to what I paid for pension contributions or premiums.  That's not -- that doesn't happen.  I can't imagine anyone who would ever do that unless required to -- unless they're suggested to do so, which would be a challenge.

MR. SHEPHERD:   It’s just that it appears that you have three or four million dollars that you probably owe the ratepayers at some point for over-collecting OPEBs.

MR. KING:  Well, again, I would go back -- a couple of things.  On the capital side, the number there is not correct.

MR. SHEPHERD:  Well, it is correct.  The ratepayers will pay it.  It's only timing.

MR. KING:  But if you suggest I have three or four million dollars, well, they haven't paid it yet.  My pensions collect over a 40-year period.  So they haven't paid it yet.

MR. SHEPHERD:  Okay.  You are getting interest, then or a return on equity on that money.  So it seems to me we have paid it, actually.

MR. KING:  I haven't got the cash for it.

MR. SHEPHERD:  Okay.  Because we borrowed it from you, Right, at a weighted average cost of capital of seven percent?

MR. KING:  I still haven't got the cash for it; that is the cost of capital associated with it.

But again, on the pension side, it goes the opposite way, right?  So I paid out more in capital contribution than I have taken in in rates, to your argument.

MR. SHEPHERD:  Yes.

MR. KING:  My pension, my special payments and the payments that the regulator requires me to make is greater than the amounts I collected in rates over these couple of years here.  And that’s even with the pension amount again overstated, like I talked about in depreciation.

MR. SHEPHERD:  Okay.  All right.  I understand, thanks.

MR. ROZIC:  Okay, I will move on to Staff 75, please.  In particular, my question relates to the margin of adverse deviation that the management provides the actuary for evaluation purposes.

I think in your response, you kind of allude to the fact that it likely -- the impact is likely not significant on the overall contribution amounts.

When I look at the pension valuation that the actuaries provide, in their terms of engagement they actually high light that as -- I think the term is the following material terms.  So they do categorize it -- they do categorize that component as a material item.

From that end, is it possible to quantify what the impact is on the revenue requirement for the test period?

MR. KING:  On the sixty basis points?

MR. ROZIC:  Yes, in the discount rate.

MR. KING:  Again, you're taking that number from the pension valuation, right?  So that is for funding purpose.  That is not for accounting purposes.

MR. ROZIC:  So a similar item wouldn't be included in the discount rate for the accounting valuation?

MR. KING:  You know what, so the discount rate that is used for accounting valuations is separate and distinct than the discount rate that is used for funding purposes.

MR. ROZIC:  Just out of curiosity, under ASPE -- I am not a hundred percent sure on this, but have you elected to use the funding valuation for accounting purposes?

MR. KING:  Yes, we have.

MR. ROZIC:  So wouldn't the funding valuation then form the basis for your accounting?

MR. KING:  It has some basis to it.  I would have to get someone a little more skilled in the difference between the accounting and the funding, and how that works.

MR. ROZIC:  Just because from what I have seen, a half a percent swing in discount rates could have a significant impact on the overall amount.  Even if the actuary provides some sort of sensitivity analysis, and maybe they already do that, that you can potentially provide that would show a swing of half a percent, either way, has this had an impact on the contributions or the expense amount? 

MR. KING:  So what was your question?

MR. ROZIC:  If we can quantify what that component of the discount rate has on the overall revenue requirement for pension and OPEBs.

MR. KING:  So what I would have to do is go back and -- I will undertake to have a look at it.  I just need to go back and clarify whether or not what you're saying is technically correct.

MR. ROZIC:  Okay.  That's fine with me.

MR. KING:  Right.  Again, I guess to step back for a second, in dealing with pensions and dealing with OPEBs and discount rates and all that stuff.

So we use Mercers, and we basically take Mercers’ advice, and I know there is a statement in here of management deviation.

Well, we don't profess to be experts in this field.  So we rely on their advice about discount rates, et cetera and we sort of, for the most part, just stick with it.  You know, our key here is to reduce volatility in our pension expense amount and our OPEB amounts where possible.

These are complicated areas in accounting and both for ratemaking purposes.

MR. ROZIC:  Agreed.  And I guess the only reason that I am even bringing it up is the fact that they specifically disclose it as something that management provided and it is not a requirement of their valuation, nor is it part of pension legislation.

So it seems like it is something that is strictly management provides.

MR. KING:  Yes.  So I would also refer to, they say that the -- while Ontario pension legislation does not explicitly require a margin, the regulator expects one to be included and may reject a report in which a margin is not included.

Again, that is -- so there is expectation that there would be a deviation there.

MR. ROZIC:  And I actually did that read that.  I had a follow up question on that, in terms of has that ever even been the case where the regulator rejected a valuation because it didn't factor in a margin for deviation?

MR. KING:  I wouldn't be able to answer that.  This response again was partly read through Mercers.  So they made a statement like that, so I expect it would be a similar case.  But I can't confirm that.

MR. ROZIC:  Ultimately, I don't even know the dollar values we're dealing with here, in terms of dollar impact.  So if we can show that the impact is not significant to begin with, I guess for purposes -- that would be satisfactory.

MR. KING:  Yes.  The other part is that for ratemaking purposes, we use accounting 3461, which has a corridor method, as opposed to 3462, which doesn't have the corridor method.

So that again is more of a -- I am just adding the technical piece to it that changes something with respect to our pension expense.

MR. ROZIC:  But presumably, the difference would get picked up in the variance account as well, right?  You do have a variance account.

MR. KING:  We do have a variance account.  So the amount we would show on our balance sheet would be -- the pension reserve and the OPEB reserve would be under 3462.  What flows through our P and L would be under 3461 because we don't want to put the re-measurement through because there's large swings up and down between asset valuations, and the delta between those two would sit as a regulatory liability asset, whatever the case may be, right.

So I guess my point, when you mentioned earlier about ASPE and using 3462 and the funding purposes, what we do push through for accounting purposes under CNPI would be 3461 and the P and L aspect of it.

Again, I need to go back and clarify if changing that reserve amount would cause a significant change, or would even impact at all.  So I will clarify.  If that is the case, I will undertake to provide something.  It might take a few days because it actually has to come from Mercers.

MR. ROZIC:  Thank you.  That's it for me.

MR. DAVIES:  Is that an additional undertaking?

MS. DJURDJEVIC:  Let's make that JTC1.7.
UNDERTAKING NO. JTC1.7:  LOOK INTO THE IMPACT OF THE MARGIN OF DEVIATION ON THE TEST YEAR REVENUE REQUIREMENT, IF ANY

MS. DJURDJEVIC:  For the record can we restate it?

MS. DJURDJEVIC:  Okay.

MR. BUONAGURO:  Sorry, it is Board Staff's undertaking, so maybe you want to restate it.

MR. ROZIC:  Sorry.  So you will look into the impact of the margin of deviation on the test year revenue requirement?

MR. KING:  If any.

MR. ROZIC:  If any.

MS. DJURDJEVIC:  Okay.

MR. DAVIES:  I have a couple of questions on this section as well, not on pension and OPEBs, but on 4 Staff 60.  This question was about customer disconnections and I think you stated in your evidence that you were anticipating an increase in customer disconnections in 2017 over 2013.

And the interrogatory asked for the magnitude of the increase in customer disconnections anticipated for 2017, and I believe the answer provides the cost of the customer disconnections, but not the number.

I am wondering do you have the estimated 2017 number of customer disconnections versus the 2013 actual number?

MR. BEHARRIELL:  We don't have that with us today, but we could probably get those numbers for you as an undertaking.

MR. DAVIES:  Okay.  So could we have as an undertaking to provide that, then?

MR. SHEPHERD:  I wonder if you could supplement that by each year from 2013 to 2017 --

MR. DAVIES:  Okay.

MR. SHEPHERD:  So we can see the trend?

MR. DAVIES:  That is the number of customer disconnections from each year, 2013 to 2017.

MS. DJURDJEVIC:  That will be Undertaking JTC1.8.
UNDERTAKING NO. JTC1.8:  TO PROVIDE THE NUMBER OF CUSTOMER DISCONNECTIONS FROM EACH YEAR, 2013 TO 2017.

MR. DAVIES:  The other question I had relates to 4 Staff 83.  And that is on the depreciation policy.  It is just a very straightforward one.

In the response you say that the extent of your written policy regarding depreciation was as provided in the 2013 EDR application, and a copy of this policy was provided with the interrogatory response for ease of reference.

I am just wondering, whereabouts was that policy in the response?

MR. VANDER VLOET:  That was a bit of an administrative oversight.  So I have hard copies of it here today if that would be helpful.  I would be happy to distribute.

MR. DAVIES:  Okay.  I'm just wondering should we have it just as an undertaking so it would formally go on the record?

MR. VANDER VLOET:  Absolutely.

MR. SHEPHERD:  Perhaps they could refile the response with the attachment.

MR. VANDER VLOET:  That's fine.

MR. DAVIES:  Okay.

MS. DJURDJEVIC:  So Undertaking JTC1.9 will be to refile --


MR. DAVIES:  Refile 4 Staff 83 with attachment.

MS. DJURDJEVIC:  Okay.  4 Staff 83 with attachment.
UNDERTAKING NO. JTC1.9:  TO REFILE 4 STAFF 83 WITH ATTACHMENT.

MR. DAVIES:  And those are all of my questions on 4.

MR. HARPER:  Actually, I had one question on 4 which I neglected to jump in after Mr. Garner finished, if you don't mind.  It had to do with VECC 31, if you could go there.  4 VECC 31.

Now, in response to Part A you talk about the fact that you filed an updated version of the Burman Energy report on what the LRAM VVA calculations were for recovery for impacts in 2013 through 2015.

Then in Part D -- and that's on the record.  You filed that.  And then Part D you make reference to a persistence report that was provided by the IESO, which, as you know, is the persistence of -- the ongoing persistence through time of the impacts of CDM programs and that that file was used to produce the Burman report.

My problem was, as I went through the Burman report and looked at the total kilowatt-hours they're assuming, say, from programs, let's say from 2012 the persistence of programs in 2013 through 2015 used for the LRAM VA calculation, and I look at the persistence report that was filed, and the persistence report numbers I cannot in any way reconcile with the numbers in the Burman report.  Just as an example, for the 2012 programs the Burman report is using numbers in the order of 1.6 million kilowatt-hours for each year, whereas the persistence report shows numbers in the order of 1.1 million kilowatt-hours for each year -- I mean, it is declining every year, but it's in that order.

So -- and I appreciate you can't do it right now, but I was wondering if you could just undertake to look at those two documents and reconcile the two differences and clarify where the numbers in the Burman Energy report actually came from and how they relate to the persistence report.

MR. BEHARRIELL:  Absolutely.

MS. DJURDJEVIC:  That will be Undertaking JTC1.10.
UNDERTAKING NO. JTC1.10:  TO LOOK AT THE TWO DOCUMENTS AND RECONCILE THE TWO DIFFERENCES AND CLARIFY WHERE THE NUMBERS IN THE BURMAN ENERGY REPORT ACTUALLY CAME FROM AND HOW THEY RELATE TO THE PERSISTENCE REPORT.

MS. DJURDJEVIC:  Is that everything from you, Mr. Harper?

MR. HARPER:  Yes, it is, thank you.

MS. DJURDJEVIC:  Okay.  Mr. Shepherd, anything on Exhibit 5?
Questions by Mr. Shepherd:

MR. SHEPHERD:  I did have a few questions.  My first is on 4 Staff 64.  And you said you don't have a compensation strategy.  I guess I am -- and I looked in the exhibit, and the exhibit just says, this is how much we're going to spend.

But you have 71 FTEs and $9 million a year in compensation.  It sounds unusual not to have a compensation strategy.  And so I wonder if you could just expand on that a little bit.

MR. KING:  So with respect to compensation, I think what is in the application would be the full sum of it. Obviously, you know, we use the Hay Group to evaluate our points for our management staff and we have an STI program for our employees.  So, you know, with respect to compensation, you know, that would be our, you know -- we have -- using mid-points, et cetera.

MR. SHEPHERD:  You don't have a document that is a compensation strategy document?

MR. KING:  Compensation strategy, no.

MR. SHEPHERD:  That seems unusual to me.  Does your board of directors not require that?

MR. KING:  No.  No.  No.

MR. SHEPHERD:  All right.  Does your strategy include a sort of an expected annual increase in people's salaries over time?  Or wages over time?

MR. KING:  Expected annual increases?  So the compensation would be -- as I alluded to, there's a Hay study done, we have Hay --


MR. SHEPHERD:  No, no, I understand, I know that.

MR. KING:  So individuals, there is -- the Hay point slide would move annually, and we would provide compensation.  The increase is based upon that Hay point line.

MR. SHEPHERD:  That part I understand.  I am thinking now budgetary rather than individuals.

So when you are doing budgets, you have an estimate of --


MR. KING:  Yes.

MR. SHEPHERD:  -- of how much your compensation is going to increase, right?

MR. KING:  Yes.  So do we -- so your question is?

MR. SHEPHERD:  Do you have a basis for that?

MR. KING:  So as you saw in the application, there's the Hay Group letter that talks about what the expected increase for '17.  So we would talk to Hay Group on a --


MR. SHEPHERD:  Is it 2.6 or 2.9?

MR. BEHARRIELL:  It says between 2.6 and 2.9, with an average of 2.76 for 2017.

MR. SHEPHERD:  Okay.  So --


MR. KING:  So we would get guidance from Hay, and we would look to our union contracts for our union as well.

MR. SHEPHERD:  Okay.  So the reason why I asked about that is because -- can you go to 4 Staff 73.

MR. KING:  Yes.

MR. SHEPHERD:  And am I right that your pension valuation assumes three-and-a-half percent a year?

MR. KING:  So again this would go back to recommendations by Mercer's.  So we would talk to Mercer's and -- you know, this is a -- you know, and these are direct words from Mercer's.  I had the same question, Jay, and said why is three-and-a-half, because we don't go three-and-a-half, and their direct words are:

"This is a common assumption in salary and related pension plans and reflects historical trends and future expectations."

So then my question was, what is the 1 percent productivity?  And the 1 percent productivity assumption reflects the future expectation that the average increase -- wage increase for Canada is expected to be 1 percent higher than inflation.

So I think this is something that is likely baked in actual valuations out generally, not necessarily related to our pension plan.

MR. SHEPHERD:  This is not required, though.  Mercer hasn't told you you must use this number, right?

MR. KING:  No.  But this is --


MR. SHEPHERD:  It is higher than any other LDC I have seen.  That's why I'm asking.

MR. KING:  Well, the only other LDCs you would see would be Hydro One or OPG.  The rest would not have a similar pension plan.

MR. SHEPHERD:  Hmm-hmm.

MR. KING:  Right.  So I am not sure what they are.  I have no idea.  But again, this is advice from Mercer's.

MR. SHEPHERD:  Okay.  Still on that 4 Staff 73.  It says here that your application has a discount rate of 4.75 in it, and you actually used 4.39, which wasn't in the application.  Was that just an oversight?

MR. KING:  Yes.  I think the 4.75 was a number -- and I alluded to earlier, that is the number that was used for funding purposes and used for accounting purpose of pension expense calculation was a 3.9, which talks below about high-quality corporate bonds.  So there is a difference and distinct the way Mercer's would do those.

MR. SHEPHERD:  So the application should have said 3.9.  It was just an oversight.

MR. KING:  Absolutely.  Yeah.

MR. SHEPHERD:  All right.  And -- so, and then the other thing I wanted to ask about here was the remaining service life of 4.8 years.

MR. KING:  So -- yeah.

MR. SHEPHERD:  You have a problem.

MR. KING:  No.  We actually closed our DB plan.  So our DB plan is currently closed.

MR. SHEPHERD:  Okay.

MR. KING:  So we have a DC plan that all new employees enter the DC plan.

MR. SHEPHERD:  Ah.

MR. KING:  Right?  So that's why the average service life is so low.

MR. SHEPHERD:  They're all old.

MR. KING:  Yeah, yeah.

MR. HARPER:  Close to retirement.

MR. SHEPHERD:  Okay, thanks.  And then I think the next -- that's all of my questions on 4.

MS. DJURDJEVIC:  All right.  Somebody else have anything on Exhibit 4?  If not, then we will move to 5, starting with Mr. Aiken.

MR. AIKEN:  No.

MS. DJURDJEVIC:  Nothing?  Mr. Garner?  Mr. Harper?
EXHIBIT 5

Questions by Mr. Garner:


MR. GARNER:  I only had one and it is not really a question per se.  But the Board has now issued its updated cost of capital numbers, and I am assuming that you were going to file, along with the undertakings, an update to the revenue requirement forms, et cetera, whatever needs to be updated as part of this exercise before the ADR.

MR. KING:  Yes, yes.

MR. GARNER:  Great.  And sorry, there was one other question.

This relates to the long-term debt.  I think it was in -- we asked about it, but so did Board Staff at 5 Staff 84, the debt that is tied to a variable rate to the Board.

The first question was, when you say it is tied to the Board's rate, is that annually?  Is it adjusted every year, or just every time you are in front of us?

MR. KING:  No, every time.  So we change our -- I think we have this discussion every time we're in here.  So we changed the promissory note so it would match the costs of capital parameter for the long-term deemed debt rate.  That was for the test year.

So the last one was 4.03 and then we used 4.54, which was a '16 placeholder for rate -- for the test year purposes, and we would presumably update it with the 3.72
-- whatever the number is that came out the other day.

MR. GARNER:  Right.  That's what I thought.  Why is it, given the way long-term rates have been, is there a specific reason why the utility wouldn't look outside of that arrangement to find a potentially lower long-term debt, given the circumstances over the last especially two years?

MR. KING:  Well, I think we will.  We will look.  You know, we will at some point in time take that 20 million and more and recapitalize our balance sheet so it is more of a 60/40.

To be honest with you, when we borrow money it is usually 15 or 30 years.  So I am not sure it will be lower than the 3.72 that you are going to get.

MR. GARNER:  Hmm-hmm.  Okay, thank you.  Those are all of my questions.

MR. DAVIES:  Staff has no questions on 5.

MR. SHEPHERD:  Just to let you know, I have no more questions on any of the other exhibits.

MS. DJURDJEVIC:  So if we have nothing else on 5, and I don't believe anybody had any issues with anything in Exhibit 6, then we are on to Exhibit 7, starting with Mr. Aiken.

MR. AIKEN:  No.

MS. DJURDJEVIC:  Okay.

MR. HARPER:  Actually, I just had one question.  It has to go to 7 VECC 36, and I just want sort of an update on this to the extent that here you indicated that at the time the load profiles used in the cost allocation were established, you had one GS greater than 50 customer that was directly connected to the 44 kV system.

I just wanted to know is that one kV customer still in existence?  Or is that one of the customers that you have lost over time?

MR. BEHARRIELL:  It is one of the customers we have lost over time.

MR. HARPER:  So that as of now, all of your customers basically make use of the primary system?

MR. BEHARRIELL:  That's correct.

MR. HARPER:  So that I guess -- you know, we'll probably be discussing this some time next week, but it would seem to me despite the references here to the Board filing, would you see -- given that change in circumstance, would there be any reason why you wouldn't want to change your cost allocation so that basically the NCP and the numbers are the same as the overall utility numbers?

MR. BEHARRIELL:  I guess the concern would be -- and we'll have to discuss this with our consultant, Aventus, that prepared the initial cost allocation study.

So the purpose of answering these interrogatories, we didn’t engage them on relatively minor issues in the update.

The question in my mind is whether, you know, playing with one specific number in that, you know, demand data worksheet without updating the sheet as a whole is really a valid adjustment.  There's been lots of changes to class customer composition and throughput and demand since 2006-07, when that original filing was made.

So yes, there is one specific thing there that you can tie to a specific circumstance because the number kind of jumps out.  But is that really valid, making that one change in the absence of a complete update?

MR. HARPER:  Well, maybe -- and this is something -- maybe you can have that discussion with your consultant, and we can perhaps talk about it next week.

And maybe all I can ask is that if you decide not to do that, if you think that is appropriate, maybe for purposes of next week's discussion you can undertake to bring sort of maybe a sensitivity analysis of what would be the impact of doing it or not doing it.  It may not be -- it may not be material, but you know -- and rather than asking you to do it now because that is going to involve some time to consult anyway.  Maybe it is something we could talk about next week, and maybe you could be prepared to talk about that next week.

MR. BEHARRIELL:  I think definitely by next week, we could quantify whether that is material or not, yes.

MR. HARPER:  Those are all of the questions I have.

MS. DJURDJEVIC:  So we will make an undertaking?

MR. HARPER:  I don't think.  They understand we will be having discussions next week in the ADR, so I don't think there is a formal undertaking needed now.
EXHIBIT 7

Questions by Mr. Davies:

MR. DAVIES:  I have one question on 7, if everyone else is -- it relates to 7 Staff 85.  It is just with respect to the table in that response and the 2013 approved revenue to cost ratios and the proposed.

I am wondering if it is possible for you to provide an explanation for the changes in each of those ratios from 2013 approved.

MR. BEHARRIELL:  Yes.  So actually, in anticipating -- you know, you identified you wanted to follow up on this question.  We did notice that the 2013 approved ratios that we had listed in the original undertaking – sorry, the original interrogatory response, those were the output of the cost allocation model prior to adjustments that were made to bring those ratios in line with Board policy, and ultimately approved through the settlement agreement.

So I do have an update of what those approved ratios were based on the 2013 settlement agreement that I could hand out.

MR. DAVIES:  Okay.  But I guess, though, an updated version or a corrected version of the interrogatory would also have to be placed on the record.

MR. BEHARRIELL:  Okay.  So we could undertake to file -- officially file an updated version of the interrogatory.  I could pass this out for the purpose of looking at the correct numbers to answer the question you just posed.

MR. DAVIES:  Okay, or is it possible to file a updated version just with brief explanations of the changes in each of the classes?

MR. BEHARRIELL:  Sure, absolutely.

MR. DAVIES:  That would deal with the question, then. Thank you.

MS. DJURDJEVIC:  That will be undertaking JTC1.12.
UNDERTAKING NO. JTC1.12:  TO FILE A UPDATED VERSION JUST WITH BRIEF EXPLANATIONS OF THE CHANGES IN EACH OF THE CLASSES

MS. DJURDJEVIC:  Any other questions?  I guess we are done for --


MR. DAVIES:  I guess the one thing we need to clarify before we finish is the settlement conference is due to begin next Tuesday, and there are these various undertakings that need to be completed.

So would CNPI be able to tell us when they think they could have the undertakings ready by?

MR. BEHARRIELL:  Can you just give us a minute to discuss?

MR. BUONAGURO:  Can we do that off the record, or do you want that on the technical conference transcript?

MR. SHEPHERD:  It’s better to have it on the transcript.

[Witness panel confers]


MR. BEHARRIELL:  Okay.  So I think, other than -- I believe it was JTC 1.7, which related to --


MR. KING:  The table, the pension table.

MR. BEHARRIELL:  -- the pension table and impact on revenue requirement, we do have to engage Mercers to assist with that response.  We aren't immediately sure of their timeline to be able to assist with that.

The rest could definitely be filed by Monday and certainly no later than, you know, first thing Tuesday morning.  But best efforts for Monday or even sooner for the rest.

MR. DAVIES:  I suppose it would be best to get them in as soon as possible, because the problem will be if they only come in Tuesday morning, then the parties won't have much time to really look at them.

MR. BEHARRIELL:  I guess having said that, then I know the traditional approach is to file them as one complete package.  Would the preference be to file them individually as they're ready? 

MR. DAVIES:  It seems to me that probably as you get them ready, if you could file them.

MR. HARPER:  Could I suggest, given the short time, that maybe what you’ve got ready by, say, mid afternoon Friday, you file before the weekend, and then you --


MR. BEHARRIELL:  And then anything else afterwards?

MR. HARPER:  Then anything else afterwards.

MR. BEHARRIELL:  That's fine with us, yes.

MS. DJURDJEVIC:  All right.  Then we are finished for today.  Thank you everyone.
--- Whereupon the conference concluded at 3:10 p.m.
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